g

_ L

Professor Academy

Pl TRR

OIAIE LEVEL MUGK TE31
PHYSICAL EDUCATION

Answer with Explanation]

& 7070701005 | 707070 1009



PG TRB Physical Education

A a N

1 2 3 4 5 6 7 8 9 10
B A D B C A B B A B
11 12 13 14 15 16 17 18 19 20
B D C B A A A A B D
21 22 23 24 25 26 27 28 29 30
B B B B B C A A A B
31 32 33 34 35 36 37 38 39 40
c b c d a c a a c c
41 42 43 44 45 46 47 48 49 50
a d c d c b c b a b
51 52 53 54 55 56 57 58 59 60
c d b a d d a b b c
61 62 63 64 65 66 67 68 69 70
d c b c a d a a d C
71 72 73 74 75 76 77 78 79 80
c c d b c a b a d a
81 82 83 84 85 86 87 88 89 90
b b d a a c a c d b
91 92 93 94 95 96 97 98 99 100
c a c d a c c b b b

107 108 109 110

e
S
(@)

101 102 103 104 105

b c c b c b c d d a
111 112 113 114 115 116 117 118 119 120
c c c c d c d c b a
121 122 123 124 125 126 127 128 129 130
a d d c d b a d d c

131 132 133 134 135 136 137 138 139 140

141 142 143 144 145 146 147 148 149 150

151 152 153 154 155 156 157 158 159 160

161 162 163 164 165 166 167 168 169 170

171 172 173 174 175 176 177 178 179 180




Part-A
s11p 559 Czia

0.1) ‘Fhpgest yaHLled OFawayd’ @)araiyseafled ‘S FHLOL]" 6TTLISET G)LIT(H 6T

) QUTGSTLD

<) BlevLd
Q@) a1

F) &emar

FHlwmest aflewl_: 9y BlevLd
QTS HLD:

“QYaLbL)” e1erp CFTOeSer QlLITBaT Blevid S GLd. “FHBS6T 9gHLHLN O)Fedey/LD”

TG UTSEwLd, OLmmaeT e flbg BlevgFed all(LpF DSl TRILIDSS &1)5% D).
2,5Ceu @Q)mIGs “y&HLHLY” eTe0TLIG “BlevLd” e16TLI Ol LITIHITLI(HLD.

0.2) QTS SIS
1. #1305 — 9) QL &G
2. senfi- oy OsTESsw ol
3. smuwest — ) Caupmieniog6lsrenas
4. Quuiwpedp — i) aeners6lsTens

o) 1. 2.23.74.Q
<) 1./72.93.9,4.9)
@) 1.92.93Q 4.7
) 1. 2.Q) 3.9, 4./

FHlwnest aflewl_: 9)) 1.9}, 2.9 3.7 4.@)

N OTHBLD:



o F1E0IGIY — “F15” TGP aflewerd O)FTeveSe) Q) (BB “eTadin” CFiBg
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QL LT aufl LpBIEIDI BIeSed @)L 5GP DIGTeTS. LD BT BT
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9o SLOLH QEF WSS eILd, Fesflom LITL_OFNYILD SFFIUF F)bF 6 G8TH 0 GTIL|LD
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Flwmet aflenr_: 9y) wullewaBIsi

QN QTHHLD:

LW BTST 6TGTLICUT BGTIVI%E 20T 6T(LpB W], e FeTenTedlesr O)LIm(perT,
Qevssent aflargsLd, O FTPsefer LweTLT®h LB weupenm ailfleuns 61(hsS5I® TS S5 M.
TG 2T FITETV leTasBISaN LOEF FADBESETH H(HSLILIBHE DS

0.16) auL_Glomfludled ‘sraiwusNFeTLd’ 61D BIOWS &(Lpails FLOed erpFLiti’ L
<2/ 65011 UG GV & & GHT [TV

%) SGHTLY WGV BISE TTLD

<2} DM GGV BISTTLD

Q) @wssHewT AlaTHSL

) Gl neTened aflenssLd

FRwmeT allewL_: 9y) EWTLY UGV HIFTTLD

TS HLD:

‘SGOTLY WGVBISTILD " 6TGHTLIG] 6L Qomfluled 2 GTaT ‘STaIUSHFGTLD " 6TGHID HIGHEVS
F(pad SOl eT(LpFHLILIL L 2y essflufevsEHewT BT Y,&Lb. ()6 @Q)evs G s 5 e
L&, >yessfl, ApLiry, ClurmssLd CuraIpalpenD aNlGTHEGLD 9 DLISLDTCS GVBIHTISH
Car " Lm®)&aT &rewTLiLI(RFSTDET. (3)F6TTV &6WTLy WeVBISTILD $LO)LS6evs 5 1S P 6wt

Fpps 9 el uflcvEsesst HIeVTEH &(HSLILIBF D).
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<) FovLiL@srgLd, et GLogen ev
Q) @aTL_wGsd), euewarwiTLF)

) (@) TT6essT Tl LD
Fflwnest aflew_: 9)) Fous & bSTLOGST), &LOLITTLOTWIGSTLD

QTS HLD:

FausFBSTLO6RT LOPMILD HLOLITTLOTWGHTLD HFW ()(h ST wEIS@pLD ai)(BSSLD
eTaTLILI(BLD &y OlFuinyaT euensuiled eT(psLiLiL ReTaret. @l (bESLD 6TTLIGI 2F0)F TP 6T
RUPBIHTH I GTaYL_GST LD bS O\ FUIL 6T Uens G Ld. Qeve Q)resT(HLd A BHS
SO sl s Fernseyd CFuiujarenoLitfed PnIeHLD O TERHTL el THa LD

o GITGTGYT.

0.18) QUThSSS ST (HS.

Q) LUmgSwag— 1. LmehFmed FLISLD

Q) UMIPSMFST— 2. LD(HLOSSH AT e L) Lo TeSTLA W LD
Q) sailoestl — 3. LITesTIY WEST LIfls

FF) & GOSTGSOTS TFGIT — 4. LD MBI 65f)
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)2 3,41
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Flwmet aflent_: ) 1, 3, 2, 4
NGTHHLD:
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o LIMIPGTFGT — LITGSTLY WG LIflG:: FoLpHF EIB (5SS5SMBS FnmiLd HailensF
OgT@LiLy.

o FHCWIGHISTFGHT — LOMBIGHGH): $SHFIUUPLD HFTFNILD Q)eenTbs sallenssd 0% TG LIL.
@serred Fflwmest QLITBSSLD 1, 3, 2, 4 G LD.
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) Loveu T GBS

FHWTET QWL ) FCRTCRTS TFGST

N QTHHLD:

‘YL LTSS GBS CTGHTLIS| FeTesTS TFGHT 6T(LPH W LSOl LIBD & mimismiiuwid
A GLD. QP HTH6V, FeLpsh TLHHEMS, LO6TIS 2_ewTia] % Wenau aileh e
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2 ewijenauuLd @Q)VEFW P LD Q)menTsgIF O\Fuig &mimisTLLwBSafed ()a
(LPSHBWILD TGTSH TG LD.

0.20) ‘eurr’ : -- @F0Fme0 6T OlLIW G gEFLD & TerTs.
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Q) a1pgI
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FRlwmest alewi_: F) aupbs
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0.21) BHHeTSH @ (LPSET (PSS 2 69T GT(LPFNI G -----------mm=

A o Gou. g
B. LGOTGSTRGTT [BTITWIGSST FTLO)
C. QFarfILIQ) LI(BLOTET 2 JBIS ST

D. giewgamLl) Lerenar

Fflwnest @flewi_: B. L9GTGTBSIT BT T G8sT FTLL)

TS HLD:

BD DD ST BINVISH S (LSS (LPS6VTSH 20T GT(LPFWI T LISTTBITH [BTTTUIGSST FTLO)
ST eud 2bs Bredler Clummenaruyd Limeuanestenwud O)Fafleuns
fers &y erearti. @QBS 2 o LW FEI%5 QSN afl6Ts S B1% @SS 6T L)%
(PSP WLDTETSTHS F(HSLILI(HF DS,
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A. 5D )6 5T

B. mIB0s 1695
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FHlwner aflenr_: B. GmipolsTens

QN QTHHLD:

‘@mIB0FT®S’ BT “Bevew GmIB0FTMmS” 616D e O\omflwimed GlLiwg ClLPmgy.
@31 #5815 QVEFWSH T 6L (HF 0BT BIvFafed RETDTGLD. (B0 2 6iTar
LTS ar APl erailevreaTen el 6T T/ LD < eumMBI6T 9Lp &, FIeoLp, 2 enTids
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2}) & Loemev, wWim(h) LDED 6V
Q) BEiIFeTLpLy, ClFeTDeOallenar
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FRlw et aflewl_: 9y) @B LO6®6V, W T(HLDEHGV

QN GTHHLD:

@ areufluiled “ @B Loenev” LPDILD “wWrRLemev” e1arn ClFTDS6T (LpLgafled G el
MLOLIGHLIG (Loem6v) )% TessT(h) QTETGH. 9 FGSITeD (Q)emeu Fif Q)WL (ST @6

ROmIenLo) O\EaessTL CIFTHS 6T 9@ Ld. “@ B L6V — WT(RLoenev” 616wt G Fiflwimes
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0.24) @081 G MIBIDHHIGT LY. QUCH TUIGDD --------------

A) 4 -8 cuenyg
B) 3—-6 cueng
C)9—-12 cueda

D) 12— 31 cuenyg
FRlwmer aflent_: B) 3 — 6 aueny

TS HLD:

&8I G MIBINI 6TRTLIG] b5 F6HTH®aNd &HPI%EGLD FEis Qews&Hwg OFm@LiL. (3)F e
2 aTeT Q@aIGeUMTIH LITLGVILD 3 (LPpSED 6 I LG&6T QUGHT (HYSTaUF &G®DHS OFuiujer
UflBemans CEBTeHTL ) HeOLOFRTDGY. QST Q)enaeu & mI 6% alenSHaT 6656y LD

<9I & Lp5 % L11L1 (5) ) 651D GO,

0.25) USFHLILITL 1360 GDBS L) FHeHET 269 L LI BT
A4) @OehPLILTL B

B) (pevemevLiLiLimL” (b



C) LG IsH%TGHF
D) QBB BeOauTeD L

FRlwnest @flewr_: B) (LpevewevLiLiLimL” (b

QTS HLD:

uSSILILTL (B BIVHafe) (LpedemeLiLITL (B &HMDBS 9L4He6T (FLomg 100)

& mrewIL_FMGLD. @Q)FemaeT pLILNBTWETTT @) wppluyerartd. Q) (Lo B)enewt
FIFHS LITL_OHm s Ol TewTL_g) LopmiLd Geprs CFuiyer eralGevGuw o LpLomest
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B) Bfs@aid

C) FmILIGhFeLpeLD
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FRlwmret aflewr_: C) HmiLIGhFeLp VLD

NGTHHLD:

FmIL1ehFeLpevLd 6TGID HTeY @Bd Caugepellenssar (epedlensd Gaug) epevid OLiwid
QUIDDG. “Pm1” GTGEILISGTITCD & 60D 6UTET HeTa), “LIGhF” 6T6TLIGI @ bFl, “eLpevLd”
e1aiTLIg) Gouy erewrLi QlLimBer BF D6t Q) erTed “eopsg Gougmed GlLwy QLpD
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PART-B Physical Education

31.Which of the following terms can be considered as good as “reliability”?

(a) Adoptability

(b) Adaptability

(c) Repeatability

(d) Applicability

Answer: (c) Repeatability

Explanations:

(a) Adoptability — refers to how easily something can be taken up or accepted. Not linked to test reliability.
(b) Adaptability — shows flexibility in changing conditions; again, unrelated to reliability in measurement.
(c) Repeatability — correct. Reliability means a test yields consistent results when repeated under similar
conditions.

(d) Applicability — means practical usefulness of a test, closer to validity, not reliability.

32.Anabolic steroids directly affect

a)Heart

b) Muscle

c) Lungs

d) Brain

Answer: (b) Muscle

Explanations:

(a) Heart — steroids indirectly harm the heart by raising BP and cholesterol but do not directly build it.
(b) Muscle — correct. Steroids mimic testosterone, stimulating protein synthesis and muscle hypertrophy.
(c) Lungs — no direct role; lung capacity depends on training, not steroids.

(d) Brain — effects like aggression are side effects, not the primary action.

33."Athlete’s foot’ is caused by

a) Virus

b) Bacteria

c) Fungus

d) None of the given options

Answer: (c) Fungus

Explanations:

(a) Virus — causes flu, measles, etc., not athlete’s foot.

(b) Bacteria — bacterial infections lead to boils, pneumonia; not this case.
(c) Fungus — correct. Athlete’s foot is a fungal infection (Tinea pedis) affecting the toes and soles.
(d) None — wrong since fungus is the actual cause.

34. Which is the symptom of second wind?
a) Headache

b) Pale skin

c) Chest and muscle pain

d) All the given options

Answer: (d) All the given options



Explanations:

(a) Headache — can appear in oxygen debt before second wind relief.

(b) Pale skin — occurs due to low oxygen circulation.

(c) Chest & muscle pain — common before the body adapts to aerobic mode.
(d) All — correct, since all are seen initially before relief in “second wind.”

35. Who/Which can be the recipient of Maulana Abul Kalam Azad (MAKA) Trophy?
a) University

b) State

c) A player

d) A coach

Answer: (a) University

Explanations:

(@) University — correct. MAKA Trophy is awarded annually to the top-performing university in sports.
(b) State — no, this is not a state-level award.

(c) A player — individual players get Arjuna, Khel Ratna, not MAKA.

(d) A coach — coaches get Dronacharya Award, not MAKA.

36.Which of the following bio-motor abilities is generally considered most difficult to improve?
a) Flexibility

b) Stability

c) Speed

d) Strength

Answer: (c) Speed

Explanations:

(a) Flexibility — can be improved significantly with stretching.

(b) Stability — enhanced by balance and core training.

(c) Speed — correct. Speed depends heavily on genetic factors (fast-twitch fibers), hardest to improve.
(d) Strength — improves greatly with resistance training.

37.The Null Hypothesis is also known by the name of

a) No-difference hypothesis

b) Alternative hypothesis

¢) Research hypothesis

d) Statistical hypothesis

Answer: (a) No-difference hypothesis

Explanations:

(a) No-difference — correct. Null assumes no relationship/effect between variables.
(b) Alternative — states there is an effect, opposite of null.

(c) Research — usually the hypothesis the researcher wants to test, not null.
(d) Statistical — general term; null is one type of statistical hypothesis.

38. Which is more effective in learning?
a) Intrinsic motivation
b) Extrinsic motivation



c) Participation motivation

d) Achievement motivation

Answer: (a) Intrinsic motivation

Explanations:

(@) Intrinsic — correct. Learning is deeper when driven by internal curiosity and interest.
(b) Extrinsic — rewards/punishments work short-term, less lasting.

(c) Participation — encourages involvement, but doesn’t ensure mastery.

(d) Achievement — helps high-performers, but not universal like intrinsic drive.

39. In research, Design effect is related to
a) Independent

b) Dependent

c) Sampling

d) None of the given options

Answer: (c) Sampling

Explanations:

Independent variable (a): These are manipulated in experiments, not linked to design effect.

Dependent variable (b): Outcomes are measured here, but design effect doesn’t directly belong to dependent
variables.

Sampling (c): Correct. Design effect (Deff) measures how the complexity of a sampling design (e.g., cluster
sampling, stratified sampling) inflates the variance compared to simple random sampling. It is fundamentally a
property of sampling design, not dependent variables.

None (d): Wrong, because design effect has a clear connection to sampling.

40. The term validity used as a substitute for reliability as one of the test criteria, is
(a) Adoptability

(b) Adaptability

(c) Repeatability

(d) Applicability

Answer: (c) Repeatability

Explanations:

(a) Adoptability — irrelevant, about taking up something new.

(b) Adaptability — refers to adjusting in conditions; not same as reliability.
(c) Repeatability — correct, as reliability = consistency of scores across trials.
(d) Applicability — relates to practical use, not reliability.

41.According to Newell's model of constraints, what type of constraint is related to an individual's
behavioral functions?

a) Functional Constraints

b) Environmental constraint

c) Structural constraint

d) Task constraint

Answer: a) Functional Constraints

Explanations:

a) Functional Constraints — Correct. These include motivation, fear, arousal, or confidence, which directly
affect performance. They are psychological or behavioral in nature, not physical. A motivated athlete may



persist longer in training, whereas lack of confidence reduces performance. That’s why they are linked with
behavioral functions.

b) Environmental constraint — External factors like gravity, weather, surface, or culture. For example, playing
on grass versus synthetic turf changes performance. These do not come from the individual’s behavioral
function, so not correct here.

c¢) Structural constraint — Body-related features like height, weight, muscle mass, limb length. These affect
ability but are biological, not behavioral. Hence, they don’t match the question’s focus.

d) Task constraint — These involve rules, goals, and equipment. For instance, basketball’s dribbling rule is a
task constraint. It shapes action but is not behavioral.

42. From out of the various group of tests mentioned below, identify the motor ability test:

(a) Roger's test, Barrow's test, Mc Cloy's test, Scott's test

(b) Krus Weber test, Harvard Step test, Sargent test, J.C.R. test

(c) Cooper's test, AAPHER's test, Canadian test, Harvard test

(d) Oregon's test, Johnson's test, Adam's test, Fleishman's test

Answer: (D) Oregon’s, Johnson’s, Adam’s, Fleishman’s

Explanations:

(@) Roger’s, Barrow’s, Mc Cloy’s, Scott’s — These assess general fitness components like strength and
endurance. They are not specifically focused on motor abilities such as balance, agility, or reaction time.

(b) Krus Weber, Harvard Step, Sargent, J.C.R. — Physiological fitness tests measuring strength and
cardiovascular efficiency. They are health-related fitness assessments, not motor ability tests.

(c) Cooper’s, AAPHER’s, Canadian, Harvard — Fitness test batteries focused on aerobic capacity and overall
fitness. They don’t classify motor abilities.

(d) Oregon’s, Johnson’s, Adam’s, Fleishman’s — Correct. These are recognized motor ability batteries
assessing agility, coordination, balance, and speed, directly testing psychomotor skills.

43. The evaluation which is undertaking during the course of training is called

(a) Summative Evaluation

(b) Creative Evaluation

(c) Formative Evaluation

(d) Normative Evaluation

Answer: (c) Formative Evaluation

Explanations:

(a) Summative Evaluation — Conducted at the end of a program to judge overall achievement. Not ongoing.
(b) Creative Evaluation — Not a standard educational evaluation type, so incorrect here.

(c) Formative Evaluation — Correct. Done continuously during training to give feedback, make adjustments,
and improve learning.

(d) Normative Evaluation — Compares performance with group norms. It measures relative standing, not
ongoing development.

44. Which is the most reliable method of postural assessment for sports persons?
(a) Visual Observation Method

(b) Plumbline Method

(c) Goniometry

(d) Radiographic Method



Answer: (d) Radiographic Method

Explanations:

(@) Visual Observation — Simple and quick but highly subjective, prone to error.

(b) Plumbline — Better than observation, uses a reference line, but still approximate.

(c) Goniometry — Measures joint angles accurately, but not overall posture.

(d) Radiographic — Correct. X-rays provide detailed skeletal alignment and are the most precise and reliable.

45.A child's high level of motivation to learn a new sport is an example of which type of constraint?

a) Structural constraint

b) Environmental constraint

¢) Functional constraint

d) Task constraint

Answer: ¢) Functional Constraint

Explanations:

c¢) Functional constraint — These are individual constraints related to behavioural functions such as
motivation, attention, fear, or past experiences. A child’s high motivation to learn a new sport is clearly a
functional constraint because it influences how the child engages in learning.

a) Structural constraint — Refers to physical characteristics of the individual like height, weight, body
composition, limb length, muscle mass, etc. These do not describe motivation.

b) Environmental constraint — External factors such as weather, physical surroundings, cultural
influences, support from parents/teachers, or facilities. These are outside the individual.

d) Task constraint — Relates to the specific rules, goals, or equipment required for performing a particular
task (e.g., size of a ball, rules of a game).

46. The term which denotes more than three author is

(a) Ed.

(b) et al.

(c) ibid.

(d) doi.

Answer: (b) et al.

Explanations:

(@) Ed. — Abbreviation for “Editor.” Used in reference lists, not author counts.
(b) et al. — Correct. Latin for “and others,” used when citing works with more than three authors.
(c) ibid. — Means “in the same place,” used for repeated citations, not authorship.
(d) doi. — Digital Object Identifier, unique number for research articles.

47. Name the test which will assess the athlete's agility and balance.
(a) Burpee Test

(b) Zig-Zag Test

(c) Mlinois Agility Run Test

(d) RAST Test

Answer: (c) Illinois Agility Run Test

Explanations:

c) The Illinois Agility Run Test is widely accepted to measure an athlete’s agility and coordination, requiring
quick directional changes and body control, which also challenges balance.



a) The Burpee Test is endurance/strength.
b) The Zig-Zag Test is agility-focused but less standardized.
d) The RAST Test is anaerobic power, not agility/balance.

48.Which of the following is considered a functional constraint that could negatively impact motor
development?

a) A low-quality playing field

b) A lack of confidence or self-efficacy

c) A heavy piece of equipment

d) Having short arms

Answer: b) Lack of confidence/self-efficacy

Explanations:

a) Low-quality field — Environmental constraint (external).

b) Lack of confidence — Correct. Functional/psychological factor; low self-belief reduces motor skill
acquisition.

¢) Heavy equipment — Task constraint, related to equipment rules.

d) Short arms — Structural constraint, biological in nature.

49.Which colour marking used for 110 meter Hurdle placement in Standard Track?
a) Blue

b) Yellow

c) Green

d) White

Answer: a) Blue

Explanations:

a) Blue — Correct. Standard marking colour for men’s 110 m hurdles.
b) Yellow — Used for other events, not hurdles.

c) Green — Often used for steeplechase events.

d) White — Denotes lane lines, not hurdle placements.

50. What is the stagger distance for lane number two for a 4x100 M Relay run start in 400 meter
standard Track?

a) 3.526 M.

b) 7.037M

c) 10.563M.

d) .3.519M

Answer: b) 7.037 m

Explanations:

a) 3.526 m — Too short, applies to smaller adjustments in other races.

b) 7.037 m — Correct stagger distance for lane 2 in 4x100 relay on a standard 400 m track.
¢) 10.563 m — Stagger used in longer races and outer lanes, not applicable here.

d) 3.519 m — Incorrect value, not standard in track rules.

51. The test and measurement are rendered meaningless without?
(a) Recording data precision



(b) Recorded fact interpretation

(c) Principled evaluation

(d) Testing procedure analysis

Answer: (c) Principled evaluation

Explanations:

(a) Recording data precision — While accuracy in data recording is important, precise numbers alone cannot
give meaning unless interpreted within an evaluative framework. Raw data without evaluation is incomplete.
(b) Recorded fact interpretation — Interpretation is essential, but if not guided by proper principles, it may be
subjective or misleading. Hence, not sufficient alone.

(c) Principled evaluation — Correct. Evaluation based on valid, reliable principles gives meaning to data.
Without principled evaluation, measurement remains purposeless.

(d) Testing procedure analysis — Examining procedure is part of validation, but does not itself make the test
meaningful.

52. Optional Arousal Theory of Anxiety was postulated by

(@) Clark Hull

(b) Carron

(c) Martens

(d) Yuri Hania

Answer: (d) Yuri Hanin

Explanations:

(@) Clark Hull — Known for Drive Reduction Theory, not for anxiety/arousal models.

(b) Carron — Contributed to sports group dynamics, cohesion, not arousal-anxiety.

(c) Martens — Developed Multidimensional Anxiety Theory, not Optional Arousal Theory.
(d) Yuri Hanin — Correct. Hanin’s “Individual Zones of Optimal Functioning” theory explains that each athlete
has an optimal arousal zone for peak performance.

53. What is the full form of SPSS?

(a) Statistical Package for the Sport Sciences

(b) Statistical Package for the Social Sciences

(c) Statistical Package for the Science Studies

(d) Statistical Package for the Social Studies

Answer: (b) Statistical Package for the Social Sciences

Explanations:

(a) Sport Sciences — Common misconception; SPSS is not limited to sport sciences.
(b) Social Sciences — Correct. Developed for social science data analysis, now widely used across disciplines.
(c) Science Studies — Not an accepted expansion of SPSS.

(d) Social Studies — Similar sounding but incorrect.

54. Study of cause and effect relationship between variables is done by?
(a) Casual research

(b) Empirical research

(c) Explanatory research

(d) Longitudial research

Answer: (a) Casual research



Explanations:

(a) Casual research — Correct. Establishes cause-effect links, asking “what causes what.” Widely used in
experimental and applied sciences.

(b) Empirical — Based on observation and evidence, not always cause-effect.

(c) Explanatory — Explains relationships but may not establish strict causality.

(d) Longitudinal — Studies variables over time, but may or may not focus on cause-effect.

55. Which of the following test is used when inference is to be drawn?

(@) t-paired test

(b) t-unpaired test

(c) z-test

(d) Analysis of variance

Answer: (d) Analysis of variance

Explanations:

(a) t-paired test — Compares means of two related groups, limited scope.

(b) t-unpaired test — Compares means of two independent groups. Not broad inference.
(c) z-test — Used when population variance is known, mostly for large samples.

(d) ANOVA - Correct. Allows inference across multiple groups, identifying significant differences among
them.

56. Which among the following is the benefits of using simple random sampling?

(@) It increases the sampling representative.

(b) Interviewers can choose respondents freely.

(c) Informants can refuse to participate.

(d) We can calculate the accuracy of the results.

Answer: (d) We can calculate the accuracy of the results

Explanations:

(@) Increases representativeness — Random sampling reduces bias but doesn’t guarantee perfect
representativeness.

(b) Interviewer freedom — Random sampling removes interviewer discretion; this prevents bias, not increases
it.

(c) Informants refusal — Non-participation is a challenge, not a benefit.

(d) Accuracy calculation — Correct. Simple random sampling allows probability-based error estimation,
making results statistically reliable.

57.How many total match will be played in League Tournament when teams are ten (10)?
a) 45 b) 44 c) 46 d) 47

Answer: a. 45

Explanations:

a) 45 — Correct. Formula: n(n—1)/2 = 10x9/2 = 45 matches.

b) 44 — One less than the actual formula outcome. Incorrect.

c) 46 — One more than actual calculation, so wrong.

d) 47 — Again, not fitting the correct mathematical formula.



58.How do functional constraints interact with other types of constraints (structural, environmental, and
task)?

a) Functional constraints operate independently and are not influenced by other constraints.

b) They interact with and are influenced by structural, environmental, and task constraints to shape movement.
c) They only influence an individual's ability to perform a task, not their learning or development.

d) They determine the speed of motor development but not the final outcome.

Answer: (b) They interact with and are influenced by structural, environmental, and task constraints to shape
movement.

Explanations:

a. Independently — Incorrect. Constraints do not act in isolation; movement emerges from their interaction.

b. Interact with others — Correct. Functional constraints (motivation, confidence) combine with structural,
environmental, and task constraints to shape movement.

c. Only influence ability — Wrong. They affect learning and development, not just immediate ability.

d. Only affect speed — Too narrow; they influence both process and outcome.

59. The conclusion/findings of which type of research cannot be generalized to other situations?
(a) Casual Comparative Research

(b) Historical Research

(c) Descriptive Research

(d) Experimental Research

Answer: (b) Historical Research

Explanations:

(a) Casual Comparative — Allows generalization within limits of similarity.

(b) Historical Research — Correct. Focuses on past events; findings are context-specific and cannot be
generalized to current/future situations.

(c) Descriptive — Generalizable when large samples are used.

(d) Experimental — Findings are often generalizable under controlled conditions.

60. How to judge the depth of any research?

(a) By research title

(b) By research duration

(c) By research objective

(d) By total expenditure on research

Answer: (c) By research objective

Explanations:

(a) Title — Titles can be catchy but do not reflect depth.

(b) Duration — Time taken does not determine research depth.

(c) Objective — Correct. Clear, well-defined objectives show depth, scope, and focus of the study.
(d) Expenditure — Money spent does not indicate quality or depth.

61.Which of the following is an example of a functional constraint that can facilitate motor development?
a) A coach providing encouraging feedback

b) A person having above-average height for their age

c) Using a smaller, lighter ball for a young child

d) A person’s strong desire to practice and improve a skill



Answer: d) A person’s strong desire to practice and improve a skill

Explanations:

a) Coach providing feedback — This is an environmental constraint, as it comes from outside the individual.
While it helps, it does not fall under functional constraints.

b) Above-average height — This is a structural constraint, relating to physical attributes like size and shape.

c) Smaller, lighter ball — This is a task constraint, because it modifies equipment used in skill learning.

d) Desire to practice — Correct. Motivation and persistence are functional constraints, psychological in nature,
directly improving skill acquisition.

62. Skewness of normal distribution is

(@) negative

(b) positive

(c) zero

(d) undefined

Answer: (c) Zero

Explanations:

(a) Negative — Negative skewness means tail is longer on the left, not characteristic of a normal distribution.
(b) Positive — Positive skewness means tail is longer on the right; again, not normal.

(c) Zero — Correct. A normal distribution is perfectly symmetrical, meaning skewness = 0.
(d) Undefined — Skewness is a measurable statistic, not undefined for normal distribution.

63. Ability to reach maximum speed of the movement without resistance or against slight resistance
through muscle contraction is

(a) Locomotion Speed

(b) Acyclic Speed

(c) Reaction Speed

(d) Speed Endurance

Answer: (b) Acyclic Speed

Explanations:

(@) Locomotion speed — Refers to speed in cyclic movements like running or swimming, not bursts without
rhythm.

(b) Acyclic speed — Correct. Reaching maximum speed quickly in isolated, non-repetitive movements (e.g., a
punch, jump).

(c) Reaction speed — Time taken to respond to a stimulus, not to reach full speed.

(d) Speed endurance — Maintaining high speed over a duration, not relevant here.

64. Basic Principle of Fartlek Training is

(a) variation in duration

(b) variation in place

(c) variation in pace

(d) variation in strength

Answer: (c) Variation in pace

Explanations:

(a) Variation in duration — Training time can vary, but it’s not the central principle.
(b) Variation in place — Location may differ, but that is not the defining feature.



(c) Variation in pace — Correct. Fartlek means “speed play”; alternating fast and slow running builds
endurance and speed.
(d) Variation in strength — Strength training is different; not the focus of Fartlek.

65. Lifting a non-maximal load with the highest attainable speed is known as

(a) Dynamic effort method

(b) Repeated effort method

(c) Sub-maximal effort method

(d) Maximal effort method

Answer: (a) Dynamic effort method

Explanations:

(a) Dynamic effort — Correct. Focus is on moving sub-maximal weights as fast as possible to build explosive
strength.

(b) Repeated effort — Involves lifting a load until failure, emphasizing endurance, not speed.
(c) Sub-maximal effort — Uses moderately heavy loads near maximum, for hypertrophy.

(d) Maximal effort — Lifting the heaviest possible load, emphasizing pure strength, not speed.

66. If a muscle shortens immediately after a stretch

(a) energy expenditure increases.

(b) explosive power output decreases.

(c) endurance output increases.

(d) force and power output increases

Answer: (d) Force and power output increases

Explanations:

(a) Energy expenditure — Stretch-shortening cycle doesn’t increase energy expenditure, it improves efficiency.
(b) Explosive power decreases — Actually, power increases due to stored elastic energy.

(c) Endurance increases — Endurance isn’t directly related to immediate stretch-shortening.

(d) Force & power increases — Correct. Stretch reflex and elastic recoil boost force output, enhancing
explosive actions like jumps.

67. Which one of the following does not come under external training load?
(a) Rate of perceived exertion

(b) Distance covered

(c) Metabolic power expressed

(d) Maximum speed achieved

Answer: (a) Rate of perceived exertion

Explanations:

(@) RPE — Correct. RPE is an internal load measure based on athlete’s self-assessment of effort.
(b) Distance covered — External load, measured objectively in training or matches.
(c) Metabolic power — External indicator of physical work done.

(d) Maximum speed — External, measurable variable of workload.

68.Which of the following best describes the term 'maturation’ in the context of human development?
a) The qualitative process of becoming fully functional and an increase in complexity.
b) The chronological age of an individual.



) An increase in body size or quantity of cells.

d) A behavioral change resulting from experience.

Answer: (a) Becoming fully functional, increased complexity

Explanations:

a) Qualitative process — Correct. Maturation is functional development of organs and systems, enabling higher
performance, not just size.

b) Chronological age — Age is time-based, but maturation can vary among individuals of same age.

c) Body size — Growth relates to quantity; maturation is about function.

d) Behavioral change — Learning/experience-based, not biological maturation.

69.The cephalocaudal principle of growth states that development proceeds from:
a) simple skills to more complex skills.

b) the center of the body outward.

c) the limbs to the trunk.

d) the head down to the toes.

Answer: (d) Head down to toes

Explanations:

a. Simple to complex — That is the differentiation principle.

b. Center outward — That is the proximodistal principle.

c. Limbs to trunk — Reverse of actual development; trunk develops before limbs.

d. Head to toes — Correct. Infants gain control of head and neck first, then trunk, arms, and legs.

70.Which of the following is an example of an age-related decline in a physiological system?
a) Improved vision after corrective surgery

b) Increased bone density in young adults.

c) Decreased lung elasticity in older adults.

d) Faster wound healing in adolescents.

Answer: (c) Decreased lung elasticity in older adults

Explanations:

a) Improved vision after surgery — Medical correction, not age-related decline.

b) Increased bone density — Occurs in young adults, not decline.

c¢) Decreased lung elasticity — Correct. Natural part of aging; reduces respiratory efficiency.
d) Faster wound healing — Seen in youth, not in older adults.

71.According to Newell's model, motor behavior is the result of the interaction of which three categories
of constraints?

a) Psychological, social, and physical

b) Internal, external, and interpersonal

c) Individual, task, and environmental

d) Cognitive, emotional, and motor

Answer: c. Individual, task, and environmental

Explanations:

a) Psychological, social, physical — These are broad influences but do not represent Newell’s classification.

b) Internal, external, interpersonal — Not the correct theoretical framework in Newell’s model.



¢) Individual, task, environmental — Correct. Newell proposed that motor development results from constant
interaction between individual constraints (structural/functional), task constraints, and environmental
constraints.

d) Cognitive, emotional, motor — These are domains of development, not constraint categories in the model.

72.Which of the following is an example of an individual constraint?

a) The rules of a soccer game

b) The wind on a golf course

c) A person's height and weight

d) The weight of a basketball

Answer: ¢) A person’s height and weight

Explanations:

a) Rules of soccer — These are task constraints, because they define how the game is played.

b) Wind on a golf course — This is an environmental constraint, an external factor influencing performance.
c¢) Height and weight — Correct. Individual structural constraints include body size, limb length, muscle mass,
etc.

d) Weight of a basketball — A task constraint, since it involves equipment used.

73.Which of the following is the best example of a locomotors skill?

a) Twisting your torso

b) Balancing on one foot

c) Catching a ball

d) Skipping across the field

Answer: d) Skipping across the field

Explanations:

a) Twisting torso — This is a non-locomotor skill because there is no movement from place to place.
b) Balancing — Stability skill, not locomotor.

c) Catching a ball — A manipulative skill because it involves handling an object.

d) Skipping — Correct. Locomotor skills involve movement from one place to another (running, walking,

skipping).

74. The lateral deviation in spine are measured through

a) a.Vertrebro graph

b) b. Scolio meter

c) c. Infrascolio

d) d. Gonio spine

Answer: b) Scolio meter

Explanations:

a) Vertebro graph — Not the standard tool for spinal deviation measurement.

b) Scolio meter — Correct. A device specifically designed to measure angle of trunk rotation and detect
scoliosis.

¢) Infrascolio — Not a recognized measuring instrument in posture assessment.

d) Gonio spine — Goniometers measure joint angles, not spinal curvature.



75.Mesomorphy is characterized by?

a) Short and thick neck

b) Chest with fatty breast

c) Strong neck

d) Long and slender neck

Answer: c¢) Strong neck

Explanations:

a) Short and thick neck — More characteristic of the Endomorphic (rounded, high fat) body type.

b) Chest with fatty breast — Suggests Endomorph due to higher fat content.

c) Strong neck — Correct. Mesomorphs possess a muscular, athletic build, which includes broad shoulders,
muscular limbs, and a firm, strong neck.

d) Long and slender neck — Characteristic of the Ectomorphic (lean, delicate) body type.

76.Which among the following denotes the area of 23 meters in Hockey field?

a) 22.90 mt. x 55mt.

b) 22.95 mt. x 55mt.

C) 22.92 mt. x 55mt.

d) 22.98 mt. x 55mt.

Answer: a) 22.90 m x 55 m

Explanations:

a) 22.90 x 55 — Correct. Standard dimension of the 23 m area, important in field hockey rules.In field hockey,
the "23-meter line" is a marking 22.90 meters from each backline across the full 55 meters width of the
field.

b) 22.95 x 55 — Slightly inaccurate, not recognized in official specifications.

c) 22.92 x 55 — Incorrect by small margin; not official measurement.

d) 22.98 x 55 — Again incorrect; not standardized in rulebooks.

77.Which skill is defined as a movement performed while remaining in place?
a) Combination skill

b) Non-locomotor skill

¢) Manipulative skill

d) Locomotor skill

Answer: b. Non-locomotor skill

Explanations:

a) Combination skill — Mix of two or more skills; not specifically stationary.

b) Non-locomotor — Correct. Skills like twisting, bending, balancing occur without changing location.
c) Manipulative — Involves handling objects (throwing, catching).

d) Locomotor — Movement from one place to another, opposite of non-locomotor.

78. Assisted Sprinting helps to improve
(a) Stride frequency

(b) Stride length

(c) Reaction time

(d) Maximum strength



Answer: (a) Stride frequency

Explanations:

a) Stride frequency — Correct. Assisted sprinting (using downhill runs, towing, or elastic cords) trains athletes
to move legs faster, improving stride turnover.

b) Stride length — Resisted sprinting improves length, not assisted sprinting.

c) Reaction time — Involves start reflexes, not sprint drills.

d) Maximum strength — Built with resistance training, not sprint assistance.

79. The adaptation brought about by the training will gradually weaken is known as

(a) Specificity

(b) Overload

(c) Recovery

(d) Reversibility

Answer: (d) Reversibility

Explanations:

a) Specificity — Training benefits are specific to the type of exercise, not about losing adaptation.
b) Overload — Refers to increasing training stress for gains.

c) Recovery — Rest after training, essential for adaptation, not decline.

d) Reversibility — Correct. Principle stating that adaptations are lost when training stops or reduces.

80.Goal Area of football ground is?

a) 6 yds. x 20 yds.

b) 6 yds. x 18 yds.

c) 18 yds. x 44 yds.

d) 8yds. x 20 yds.

Answer: a) 6 yds x 20 yds

Explanations:

a) 6 x 20 — Correct. Official FIFA dimension for goal area: 6 yards from goal line, 20 yards across.
b) 6 x 18 — Not a recognized measure in football rules.

c) 18 x 44 — This matches the penalty area, not the goal area.
d) 8 x 20 — Goal post width is 8 yards, but area size differs.

81. A single practice session in pursuit of training objective is called as

(a) Training Session

(b) Training Unit

(c) Training Schedule

(d) Year Planner

Answer: (b) Training Unit

Explanations:

(@) Training Session — This is a broader term that may include multiple training units and activities. Not precise
enough.

(b) Training Unit — Correct. A training unit is the smallest component of a training process, a single session
with a defined goal.

(c) Training Schedule — A timetable organizing many training units across days/weeks, not a single practice.
(d) Year Planner — Refers to long-term planning of training cycles, not an individual session.



82. Which of the following is not a criteria of a good test?

a) Objectivity

b) Subjectivity

c) Reliability

d) Validity

Answer: b) Subjectivity

Explanations:

a) Objectivity — A good test ensures results are free from examiner bias and consistent across evaluators.

b) Subjectivity — Correct answer. A good test should not rely on personal judgment or opinion; subjectivity
reduces fairness.

c) Reliability — A test must give consistent results under repeated trials.

d) Validity — A test must measure what it is intended to measure.

83. Which is not a basic coordination ability?

(a) Adaptive ability

(b) Balance ability

(c) Orientation ability

(d) Endurance ability

Answer: (d) Endurance ability

Explanations:

(a) Adaptive ability — Coordination ability enabling athletes to adjust movements to changing situations.
(b) Balance ability — A core coordination skill, maintaining stability during movement or rest.
(c) Orientation ability — Ability to determine and control body position in space.

(d) Endurance ability — This is a conditional ability (fitness), not coordination.

84. The greatest force of neuromuscular systems is capable of exerting in a Single Maximum Voluntary
Contraction is called

(a) Gross Strength

(b) Elastic Strength

(c) Relative Strength

(d) Strength Endurance

Answer: (a) Gross Strength

Explanations:

(a) Gross Strength — Correct. It is the maximal force generated by muscles in one voluntary effort.
(b) Elastic Strength — Strength used in quick, explosive actions using stretch-shortening cycle.

(c) Relative Strength — Strength relative to body weight, important in weight-class sports.

(d) Strength Endurance — Ability to sustain repeated contractions, not maximum single force.

85. Excess carbohydrate is stored in the
(a) muscle

(b) intestines

(c) adipose tissue

(d) bone marrow

Answer: (a) Muscle



Explanations:

(@) Muscle — Correct. Excess carbohydrates are stored as glycogen in muscles for immediate energy use.
(b) Intestines — Responsible for absorption, not storage.

(c) Adipose tissue — Stores excess fats, not carbohydrates directly.

(d) Bone marrow — Produces blood cells, not a storage site for carbohydrates.

86.Sports top form depends on ?

a) Training

b) Physiological limits

c) Diet

d) Equipments

Answer: c¢) Physiological limits

Explanations:

a) Training — Essential, but top form depends on body’s physiological ceiling.
b) Physiological limits — Correct. The peak performance an athlete can achieve is determined by genetic and
functional limits of the body.

c) Diet — Important for supporting performance but not the ultimate limit.

d) Equipment — Enhances performance, but cannot define top form.

87. Which type of imagery should be used to reduce athletes' anxiety prior to a competition?

(a) Motivational General Arousal

(b) Motivational General Mastery

(c) Cognitive Specific Imagery

(d) Motivational Specific Imagery

Answer: (a) Motivational General Arousal

Explanations:

(@) MGA - Correct. Athletes visualize calming or energizing images to control arousal and reduce anxiety.
(b) MGM - Focuses on confidence and mastery, not directly anxiety reduction.

(c) Cognitive Specific — Visualizing specific skills, useful for learning, not anxiety control.

(d) Motivational Specific — Goal-related imagery, like winning medals, but may increase anxiety rather than
reduce.

88.Blue print of the competition plan is called ?

a) Technique

b) Tactics

c) Strategy

d) Skill

Answer: c¢) Strategy

Explanations:

a) Technique — The method of executing a specific skill, not the overall plan.
b) Tactics — Short-term adjustments or moves in response to opponents.

c) Strategy — Correct. Strategy is the long-term blueprint or master plan guiding performance in competition.
d) Skill — The learned ability to perform a movement effectively, not planning.



89. Hyperextension of movement occurs when the extension is beyond

(@) 60°

(b) 90°

(c) 120°

(d) 180°

Answer: (d) 180°

Explanations:

(@) 60° — Too small, within normal range of many joints.

(b) 90° — Normal extension for elbows/knees often goes near this, not hyperextension.
(c) 120° — Still within normal functional range for some joints.

(d) 180° — Correct. When a joint extends beyond its anatomical straight line (180°), it is hyperextension.

90. Power is the product of:

(a) Force and Fulcrum

(b) Force and Velocity

(c) Fulcrum and Resistance

(d) Resistance and Velocity

Answer: (b) Force and Velocity

Explanations:

(@) Force and Fulcrum — Fulcrum relates to lever systems, not power formula.

(b) Force and Velocity — Correct. Power = Force x Velocity. It measures how quickly work is done.
(c) Fulcrum and Resistance — Refers to levers, not power output.

(d) Resistance and Velocity — Incomplete; force must be included to define power.

91. Correlation co-efficient is a measure of correlation strength and can range from?
a) +1.00 through .00 to -1.00

b) -1to+1

c) -1to-1

d) None of these

Answer: (c) +1.00 through .00 to -1.00

Explanations:

a) +1.00 through .00 to -1.00 — Correct. Correlation coefficient (r) ranges between -1 (perfect negative) and +1
(perfect positive), with 0 showing no correlation.

b) -1to +1— Conceptually correct range, but wording here misses the “through 0.00” clarity emphasized in
standard definition.

c) -1to-1- Incorrect, not a valid range.

d) None — Wrong, since option (A) is correct.

92.Who was the President of Indian Olympic Association in the year 20217?
a) Narinder Dhruv Batra

b) Narayan Ramachandran

¢) Raja Bhalindra Singh

d) Milkha Singh

Answer: a) Narinder Dhruv Batra



Explanations:

a) Narinder Dhruv Batra — Correct. He served as IOA President from 2017 until 2022.
b) Narayan Ramachandran — Former 10A President (2014-2017).

c) Raja Bhalindra Singh — Earlier IOA leader (1960s-1970s), not recent.

d) Milkha Singh — Legendary athlete, but never IOA President.

93. Hypothesis ‘Ho’ simple suitable example for?

a) Null Hypothesis

b) Statistical hypothesis

c) BothA&B

d) None of these

Answer: c) Both A & B

Explanations:

a) Null Hypothesis — Ho denotes “no difference” or “no relationship.”
b) Statistical hypothesis — Null hypothesis is a form of statistical hypothesis tested mathematically.
c) Both A & B - Correct, Ho is both a null and statistical hypothesis.
d) None — Incorrect because Ho clearly falls under both categories.

94. The highest award given to sports coaches in India is

a) Arjuna Award

b) Khel Ratna Award

c) Ati Vashista Jyoti

d) Dronacharya Award

Answer: d) Dronacharya Award

Explanations:

a) Arjuna — For outstanding players, not coaches.

b) Khel Ratna — Highest award for athletes, renamed Major Dhyan Chand Khel Ratna.
c) Ati Vashista Jyoti — Not a sports award.

d) Dronacharya — Correct. Given for excellence in coaching and producing champions.

95. An s conjectural statement and a tentative solution to a researcher problem, suggested
solutions to the problem.

a) Hypothesis

b) Interview

c) Questionnaire

d) None of these

Answer: (a) Hypothesis

Explanations:

a) Hypothesis — Correct. A hypothesis is a proposed explanation or solution to be tested.
b) Interview — A data collection method, not a conjectural statement.

¢) Questionnaire — A research tool, not a solution.

d) None — Wrong since hypothesis is the right fit.



96. What is/are the common sources of error in experiment research?

a) Hawthorne effect

b) John Henry effect

c)BothA&B

d) None of these

Answer: c) Both A & B

Explanations:

a) Hawthorne effect — When subjects change behavior because they know they’re being observed.
b) John Henry effect — When control group alters effort upon knowing about the experiment.
c) Both A & B — Correct, both effects bias results.

d) None — Wrong since errors exist.

97. In Tamilnadu sports tourism initiatives,what is the primary purpose of programs like salt walk and
running league?

a) Promote political campaigns

b) Enhance trade relations

c) Blend fitness with regional and spiritual tourism

d) Replace traditional festivals

Answer: c¢) Blend fitness with regional and spiritual tourism

Explanations:

a) Promote political campaigns — Not the purpose.

b) Enhance trade relations — Related to economics, not fitness.

c) Blend fitness with tourism — Correct. Initiatives aim to combine sports, fitness, heritage, and spirituality.
d) Replace festivals — Not intended to substitute cultural events.

98. When athlete raises the weight of his body on his toes it is an example of
(@) First Class Lever

(b) Second Class Lever

(c) Third Class Lever

(d) Fourth Class Lever

Answer: (b) Second Class Lever

Explanations:

(@) First class — Fulcrum between effort and load (like seesaw). Not correct here.
(b) Second class — Correct. Toes act as fulcrum, body weight as load, calf muscles provide effort.
(c) Third class — Effort applied between fulcrum and load (e.g., biceps curl).

(d) Fourth class — No recognized fourth-class lever.

99. Which of the angular kinematics can be calculated if radius and angular velocity is given?
(I) Average acceleration

(11) Centripetal acceleration

(1) Linear distance

(V) Linear velocity

(V) Absolute angle

Options:



(@) (1) and (I11)

(b) (11) and (1V)

(c) (1) and (V)

(d) (O, (1) and (V)

Answer: (b) (1) and (1V)

Explanations:

(1) Average acceleration — Needs change in velocity/time, not radius & angular velocity.
(11) Centripetal acceleration — Calculated as r x ®>.

(1) Linear distance — Requires angular displacement, not angular velocity alone.
(V) Linear velocity — Formula v=r x .

(V) Absolute angle — Needs initial/final positions, not velocity.

100.The key component of physical literacy that influences lifelong activity is:

a) a.Muscle strength

b) b.Motivation and confidence

¢) c.Endurance

d) d.Intelligence quotient(l1Q)

Answer: (b) Motivation and confidence

Explanations:

(@) Muscle strength — Important for performance, but not central to lifelong participation.
(b) Motivation & confidence — Correct. These drive people to engage in physical activity consistently over life.
(c) Endurance — Physical ability, not a motivational driver.

(d) 1Q — Intelligence quotient has no direct role in lifelong physical activity.

101.Immediate treatment provided to an athlete upon a sports injury is ?

a) Short wave diathermy

b) Cry therapy

c) Contrast bath

d) Whirlpool

Answer: (b) Cry therapy

Explanations:

(a) Short wave diathermy — Uses heat to treat chronic conditions, not for immediate injury care.

(b) Cry therapy — Correct. Applying ice/cold reduces swelling, pain, and inflammation right after injury.
(c) Contrast bath — Alternating hot/cold baths, used later in rehabilitation, not immediately.

(d) Whirlpool — Hydrotherapy method, mainly for muscle relaxation, not acute injury management.

102. When ATP is broken down to ADP, how much free energy are liberated per mole of ATP?
(a) 68.6 kcal

(b) 26.3 kcal

(c) 7.3 kcal

(d) 21 Kkcal

Answer: (c) 7.3 kcal

Explanations:



(@) 68.6 kcal — Too high; not the energy yield per ATP hydrolysis.

(b) 26.3 kcal — Incorrect value, not physiologically accurate.

(c) 7.3 kcal — Correct. Each mole of ATP hydrolyzed to ADP releases ~7.3 kcal under standard conditions.
(d) 21 kcal — Exaggerated, not a recognized figure in bioenergetics.

103.Lung capacity usually measured by ?

a) Bairometer

b) Thermometer

c) Spirometer

d) Animometer

Answer: (c) Spirometer

Explanations:

(a) Bairometer — Incorrect term, not related to lung measurement.
(b) Thermometer — Measures temperature, not lung capacity.

(c) Spirometer — Correct. A spirometer measures lung volumes and capacities, such as vital capacity and tidal
volume.

(d) Animometer — Not a recognized instrument in physiology.

104."Ergograph’ measures?

a) Muscular strength

b) Muscular endurance

c) Muscle length

d) Muscle size

Answer: (b) Muscular endurance

Explanations:

(@) Muscular strength — Strength is measured by dynamometers, not an ergograph.

(b) Muscular endurance — Correct. An ergograph records repeated muscle contractions until fatigue, assessing
endurance.

(c) Muscle length — Length measured by anthropometry, not ergograph.

(d) Muscle size — Size assessed by girth measurement or imaging techniques, not ergograph.

105. The break down of muscle, which is stimulated by cortisol, secreted by the adrenal glands known as
(a) Aminolysis

(b) Actomyolysis

(c) Proteolysis

(d) Myteolysis

Answer: (c) Proteolysis

Explanations:

(@) Aminolysis — Refers to breakdown involving amino groups, not muscle protein specifically.

(b) Actomyolysis — Not a standard physiological term.

(c) Proteolysis — Correct. Cortisol promotes breakdown of muscle protein (proteolysis) for energy during stress.
(d) Myteolysis — Incorrect, not recognized in physiology.

106. Smashing’ in volleyball is also known as ?



a) Lifting

b) Spiking

c) Service

d) Blocking

Answer: (b) Spiking

Explanations:

(a) Lifting — Fault in volleyball, not an attack technique.

(b) Spiking — Correct. A smash is the same as a spike: a forceful downward hit over the net.
(c) Service — Method to put the ball in play, not smashing.

(d) Blocking — Defensive move, not an attacking smash.

107.1nsulin is secreted by:

a) Liver

b) Pituitary

c) Pancreas

d) Thyroid

Answer: (C) Pancreas

Explanations:

(a) Liver — Processes glucose, but does not secrete insulin.

(b) Pituitary — Secretes growth and regulatory hormones, not insulin.
(c) Pancreas — Correct. Insulin is secreted by beta cells of Islets of Langerhans in the pancreas.
(d) Thyroid — Produces thyroxine, not insulin.

108. Match List - I with List - 11 using the codes given below

List | List I
a.Javelin throw 1.Demonstration method
b.Instep kick 2.Sequential part method
c. Marching 3.0ral method
d.Classroom teaching 4.Whole-part-whole method

codes:

a) (a)-(3). (b)-(2),(c)- (1), (d)-(4)

b) (a)- (1), (b)-(3),(c)-(2), (d)-(4)

c) (a)-(4), (®)-(Q), (c)-(2),(d)-(1)

d) (a)-(2), (d)-(4), (c)- (1), (d)-)

Answer: d) (a) - (2), (b) - (4), (c) - (1), (d) - (3)

Explanations:

a. Javelin throw — (2) Sequential part method — Complex skill learned step-by-step.
b. Instep kick — (4) Whole-part-whole — Practiced as a whole skill, broken into parts, then combined.
c¢. Marching — (1) Demonstration method — Simple skill, best taught by showing.

d. Classroom teaching — (3) Oral method — Instruction delivered verbally.

109. Which of the following are short-term Cardio-Vascular adaptations to physical activities?
() Tidal volume
(1) Changes in the cardiac output



(111) Changes in the size of blood vessels

(V) Ventilatory efficiency

(V) Changes in the heart structure

Codes:

(a) (1), (1), (1IV) and (V)

(b) (), (11) and (1V)

(c) (1, (1) and (V)

(d) (I1) and (111)

Answer: (d) (1) and (1)

Explanations:

(I) Tidal volume — A respiratory adaptation, not cardiovascular.

(I1) Cardiac output — Increases immediately during activity as heart pumps more blood.
(11) Blood vessel size — Vasodilation occurs acutely during exercise to increase blood flow.
(IV) Ventilatory efficiency — More respiratory than cardiovascular.

(V) Heart structure — A long-term adaptation, not short-term.

110.When was the First International Yoga Day celebrated?
a) 21 June 2015

b) 21 June 2016

c) 23 July 2015

d) 25 July 2016

Answer: (a) 21 June 2015

Explanations:

(@) 21 June 2015 — Correct. Declared by the UN in 2014, first celebrated globally on 21 June 2015.
(b) 21 June 2016 — Second International Yoga Day, not the first.
(c) 23 July 2015 — Wrong date, not recognized.

(d) 25 July 2016 — Not associated with International Yoga Day.

111. In normal distribution the mean ,median and mode are?

a. All different

b. Mean>Median>mode

c. mean =median =mode

d. median >mode>mean

Answer: (c) mean = median = mode

Explanations:

(a) All different — Not true; in a perfectly normal curve, all measures coincide.

(b) Mean > Median > Mode — This occurs in positively skewed distribution.

(c) mean = median = mode — Correct. Normal distribution is perfectly symmetrical, so all three are equal.
(d) Median > Mode > Mean — Pattern seen in negatively skewed distribution, not normal.

112. Which of the following drugs is not banned by the international Olympic Committee?
a) Cocaine

b) Marijuana

c¢) Alcohol

d) Ephidrine



Answer: c¢) Alcohol

Explanations:

Cocaine — Classified as a stimulant, banned in sports by IOC/WADA.

Marijuana — Listed as prohibited because it alters perception and reaction time.

Alcohol — Correct. While restricted in some precision sports (shooting/archery), it is not globally banned by
I0C.

Ephedrine — A stimulant, banned above threshold levels.

113.Newton's second law of motion is ?

a) Law of inertia

b) Law of counter force

c¢) Law of acceleration

d) Law of gravitation

Answer: c.Law of acceleration

Explanations:

Law of inertia — This is Newton’s first law.

Law of counter force — Misrepresentation; Newton’s third law explains action—reaction.
Law of acceleration — Correct. F = ma. Acceleration is directly proportional to force and inversely proportional
to mass.

Law of gravitation — Newton’s law of universal gravitation, separate from motion laws.

114. Which type of correlation both variables increases or decreases at same time?
a) Positive correlation

b) +1.00

c) BothAandB

d) None of these

Answer: (c) Both Aand B

Explanations:

a) Positive correlation —When one variable increases, the other also increases (or both decrease).
b) +1.00 — Perfect positive correlation value.

c) Both Aand B — Correct, both describe the same phenomenon.

d) None — Wrong since positive correlation exists.

115. Which factor does not affect the rate of alveolar diffusion?
(a) Solubility of gases

(b) Thikness of the membranes

(c) Pressure gradient of gases

(d) Reactivity of gases

Answer: (d) Reactivity of gases

Explanations:

(a) Solubility of gases — Affects diffusion rate (more soluble = faster diffusion).

(b) Thickness of the membranes — Directly affects diffusion (1 thickness — | diffusion).

(c) Pressure gradient of gases — Major driving factor in diffusion (Fick’s law).

(d) Reactivity of gases — Not a factor in alveolar diffusion (diffusion depends on physical factors, not
chemical reactivity).



116. Who was the first Physical Educationist got Dronacharya Award?
a) Prof. Ajmer Singh

b) Prof. Robson

c) Prof. A. K. Uppal

d) Prof. Karan Singh

Answer: c) Prof. A. K. Uppal

Explanations:

(a) Prof. Ajmer Singh — Renowned athletics coach, but not the first PE Dronacharya.

(b) Prof. Robson — Not recorded as a recipient.

(c) Prof. A. K. Uppal —Correct. First Physical Educationist to receive the Dronacharya Award (Athletics,
1986).

(d) Prof. Karan Singh — Not the first; sometimes wrongly quoted.

117. The male is generally able to generate more aerobic energy than the female because
(a) Due to differences in body composition.

(b) Men possesses a relatively large muscle mass and less fat than the female.

(c) Men have a 10 to 14% greater concentration of haemoglobin than women.

(d) Lower body fat and higher haemoglobin provide the male to generate more aerobic energy.
Answer: (d) Lower body fat and higher haemoglobin provide more aerobic energy
Explanations:

(a) Body composition — True but incomplete explanation.

(b) Larger muscle mass — Partially true, but not the full reason.

(c) Higher haemoglobin — Correct aspect but alone doesn’t explain full difference.

(d) Lower fat + higher Hb — Correct. Combination of more muscle, less fat, and higher haemoglobin
concentration leads to greater aerobic energy generation.

118. Bonus point comes into effect only when there are defenders on the kabaddi mat/ground.
a) 5 defenders

b) 4 defenders

c) 6 defenders or more

d) 3 defenders

Answer: c.6 defenders or more

Explanations:

a) 5 defenders — Not enough for bonus rule to apply.

b) 4 defenders — Incorrect; rule requires a minimum of 6.

c) 6 defenders or more — Correct. Bonus line becomes active when defending team has 6+ players.
d) 3defenders — Too few for the bonus system.

119. Who was the First Indian Member of the International Olympic Committee?
(@) G. D. Sondhi

(b) Sir Dorabji Tata

(c) Raja Bhalindra Singh

(d) P. M. Joseph

Answer: (b) Sir Dorabji Tata

Explanations:



(@) G. D. Sondhi — Early Indian sports administrator, not the first IOC member.

(b) Sir Dorabji Tata — Correct. Industrialist and sports patron, India’s first IOC member.
(c) Raja Bhalindra Singh — Later IOC member and I0A President, but not first.

(d) P. M. Joseph — Not connected with IOC membership.

120.The length of the relay baton shall be ------------------
a) 0.28mto 0.30m.

b) 0.30m to 0.38m.

c) 0.28mto 0.34m.

d) 0.28m to 0.38m.

Answer: (a) 0.28 mt0 0.30 m

Explanations:

(@) 0.28-0.30 m — Correct IAAF specification for relay baton length.
(b) 0.30-0.38 m — Too long, not within regulations.

(c) 0.28-0.34 m — Not exact official range.

(d) 0.28-0.38 m — Range exceeds international standards.

121. McDonalds soccer test involves ?

a) Volleying the soccer ball against a backboard

b) Volleying the soccer ball and also kicking a soccer ball for a distance

c) Volleying the soccer ball, kicking a soccer ball for a distance and dribble for speed
d) kicking a soccer ball for a distance and dribble for speed

Answer: (a) Volleying the soccer ball against a backboard

Explanations:

(@) Volleying the soccer ball against a backboard — Correct. This test evaluates soccer skill by repeatedly
volleying a ball against a wall/backboard and controlling rebounds.

(b) Volley + kicking — Adds distance kicking, not part of this test.

(c) Volley + kick + dribble — Too many components; not correct.

(d) Kick + dribble — Incorrect, as volleying is the core element.

122.The width of the hurdles shall be from------------------

a) 1.12mto 1.20m.

b) 180m to 1.20m.

¢) 1.81mto 1.20m.

d) 1.18m to 1.20m.

Answer: (d) 1.18m to 1.20m

Explanations:

(@) 1.12-1.20 m — Lower limit is not accurate as per IAAF rules.
(b) 180 m to 1.20 m — Clearly a misprint, not valid.

(c) 1.81 m to 1.20 m — Reversed range, illogical.

(d) 1.18 mto 1.20 m — Correct standard width for official hurdles.

123. Find the correct order of the colours of the rings in the Olympic Flag from left to right:
(a) Blue, Yellow, Green, Black and Red
(b) Black, Green, Blue, Yellow and Red



(c) Black, Yellow, Blue, Green and Red

(d) Blue, Yellow, Black, Green and Red

Answer: (d) Blue, Yellow, Black, Green and Red

Explanations:

(a) Blue, Yellow, Green, Black, Red — Wrong sequence.

(b) Black, Green, Blue, Yellow, Red — Incorrect order.

(c) Black, Yellow, Blue, Green, Red — Misplaced order.

(d) Blue, Yellow, Black, Green, Red — Correct official order of Olympic rings.

124.For men 110 m hurdle race, the height of the hurdle is?
a) 0.840 m

b) 0.920 m

c) 1.067 m

d)1.11m

Answer: (c) 1.067 m

Explanations:

(a) 0.840 m — Height for women’s events, not men’s.

(b) 0.920 m — Used in some junior categories, not men’s 110 m.
(c) 1.067 m — Correct height for men’s 110 m hurdles in international competitions.
(d) 1.11 m — Slightly above actual standard.

125. 'Round Robin' is related to?

a) Knock-out tournament

b) Ladder tournament

c¢) Combination tournament

d) League tournament

Answer: (d) League tournament

Explanations:

(@) Knock-out — Teams eliminated after a single loss; not round robin.
(b) Ladder — Ranking-based tournament format.

(c) Combination — Uses mix of knockout + league, not pure round robin.
(d) League — Correct. In round robin, every team plays every other team = league system.

126. The official languages of the Olympic movement are

(@) English and Greek

(b) English and French

(c) English and Latin

(d) English and Spanish

Answer: (b) English and French

Explanations:

(@) English & Greek — Greek is symbolic but not official.

(b) English & French — Correct. Both are the official working languages of the 10C.
(c) English & Latin — Latin not used officially.

(d) English & Spanish — Spanish is widely spoken, but not official IOC language.



127.Sports Talent Search Scholarship Scheme was launched in?
a) A.1970-71

b) B.1975-76

c) C.1977-78

d) D.1980-81

Answer: a) 1970-71

Explanations:

a) 1970-71 — Correct. Launched to identify and nurture sports talent in India.
b) 1975-76 — Too late.

c) 1977-78 — Wrong year.

d) 1980-81 — Incorrect, later than actual launch.

128. In India, National Fitness Corps was set up in ?

a) 1954

b) 1971

c) 1959

d) 1965

Answer: d) 1965

Explanations:

a) 1954 — Too early, not the year of establishment.

b) 1971 — Incorrect, later year.

c) 1959 — Wrong, though fitness initiatives existed earlier.
d) 1965 — Correct year when National Fitness Corps was set up to improve youth fitness.

129. Who is the First Transgender athlete to compete in Olympic?

a) Harrison Brown

b) Kye Allums

c) Schuyler Bailar

d) Laurel Hubbard

Answer: d) Laurel Hubbard

Explanations:

a) Harrison Brown — Transgender ice hockey player, not Olympic participant.
b) Kye Allums — Transgender basketball player, but not Olympian.

¢) Schuyler Bailar — Transgender swimmer, not Olympian.

d) Laurel Hubbard — Correct. Competed in weightlifting at Tokyo 2020, first transgender Olympian.

130. Who was the first person to receive ""Rajiv Gandhi Khel Ratna' Award?

a) K. Malleshwari

b) Baichung Bhutia

¢) Vishwanathan Anand

d) Sachin Tendulka

Answer: ¢) Vishwanathan Anand

Explanations:

a) K. Malleshwari — First Indian woman weightlifting medalist, but not first Khel Ratna awardee.
b) Baichung Bhutia — Famous footballer, not first awardee.



c) Vishwanathan Anand — Correct. Chess Grandmaster, first recipient of the award in 1991-92.
d) Sachin Tendulkar — Received later, not the first.

131. In a knockout tournament, a team is eliminated after:

a) One win

b) One loss

c) Two wins

d) Two losses

Answer: b) One loss

Explanations:

In a knockout tournament, a team is eliminated after a single loss, as the format is designed to progressively
reduce the number of teams until a winner emerges. Options (a), (c), and (d) do not align with the single-
elimination structure of knockout tournaments.

132. Which two electrolytes are most crucial for preventing muscle cramps?

(a) Calcium and magnesium

(b) Sodium and potassium

(c) Iron and zinc

(d) Chloride and phosphate

Answer: (b) Sodium and potassium

Explanations:Sodium and potassium drive nerve impulses and muscle contraction. Imbalances, especially
with heavy sweating, raise cramp risk more than the other pairs listed.

133.During a soccer header, which biomechanical factor is most critical?

(@) Friction from grass

(b) Timing and neck flexor activation

(c) Eye color

(d) Wind direction

Answer: (b) Timing and neck flexor activation

Explanations:

* Proper timing and active neck flexors stabilize the head and optimize ball contact.
» Surface friction and wind are minor at impact.

* Eye color has no biomechanical role.

134. In APA style, which edition is the most widely used as of 2023?
(@) 5th

(b) 6th

(c) 7th

(d) 8th

Answer: (c) 7th

Explanations:

» The APA 7th edition (2019) is the current widely adopted manual.
* 5th and 6th editions are superseded.

* There is no APA 8th edition as of 2023.

* Most universities/journals shifted to APA 7 shortly after 2019.



135. Generally, the upper age limit for a boxer to compete in National Championships is?
a) a.35years

b) b. 37 years

c) c. 38 years

d) d. 39 years

Answer: (b) 37 years

Explanations:

(@) 35 years — Too low; boxers are allowed to compete beyond this age in nationals.

(b) 37 years — Correct. Boxing Federation of India sets 37 years as the maximum limit for national
championship participation.

(c) 38 years — Exceeds the recognized national limit.

(d) 39 years — Not permitted under current rules.

136. The Indian Hockey team has won how many Olympic medals?

(a) 8 Gold, 1 Silver, 1 Bronze

(b) 7 Gold, 2 Silver, 2 Bronze

(c) 8 Gold, 1 Silver, 4 Bronze

(d) 7 Gold, 1 Silver, 1 Bronze

Answer: (c) 8 Gold, 1 Silver, 4 Bronze

Explanations:

(@) 8 Gold, 1 Silver, 1 Bronze — Understates India’s bronze tally.

(b) 7 Gold, 2 Silver, 2 Bronze — Incorrect; India has more golds and bronzes.
(c) 8 Gold, 1 Silver, 4 Bronze — Correct tally of Indian men’s hockey Olympic medals (1928-2021).
(d) 7 Gold, 1 Silver, 1 Bronze — Wrong medal distribution.

137. The highest score point in Judo is

(a) Ippon

(b) Wazari

(c) Hansoku

(d) Yuko

Answer: (a) Ippon

Explanations:

(@) Ippon — Correct. Awarded for a perfect throw, pin, or submission, ending the contest instantly.
(b) Wazari — Half-point; two wazaris equal one ippon.

(c) Hansoku — Refers to disqualification, not a scoring move.

(d) Yuko — Former low-level score, removed from modern judo rules.

138. The component of philosophy that deals with knowledge, its kind and attention is known as
(@) Logic

(b) Axiology

(c) Metaphysics

(d) Epistemology

Answer: (d) Epistemology

Explanations:



(a) Logic — Studies reasoning and arguments, not nature of knowledge.

(b) Axiology — Concerned with values and ethics, not knowledge.

(c) Metaphysics — Explores reality and existence, not knowledge structure.

(d) Epistemology — Correct. The branch of philosophy concerned with the theory, sources, and limits of
knowledge.

139. Atlanta Olympic is marked as

(@) Century of Modern Olympic

(b) First Time Olympic in USA

(c) Olympics in North America

(d) Record Number of Spectators

Answer: (a) Century of Modern Olympic

Explanations:

(@) Century of Modern Olympic — Correct. Atlanta 1996 marked 100 years since the first modern Games in
1896 (Athens).

(b) First Olympic in USA — Wrong; USA first hosted in 1904 (St. Louis).
(c) Olympics in North America — True but not the defining mark.

(d) Record spectators — Not the official historical designation.

140. Match the following:

A. Distance from start line to first hurdle in 110 mts | a. 13 mts

B. Distance from start line to first hurdle in 100 mts | b. 40 mts

C. Distance from start line to first hurdle in 400 mts | c. 13.72 mts

D. Distance from last hurdle to finish line in 400 mts | d. 45mts

Codes:

A B C D
1 ¢c b d a
2 ¢c a d b
3 d c b a
4 ¢ d a b

Answer: (2)c,a,d, b

Explanations:

(@) 110 m first hurdle =13.72 m — ¢

(b) 100 m first hurdle=13 m — a

(c) 400 m first hurdle =45 m — d

(d) 400 m last hurdle to finish=40m — b
Thus, correct code is ¢, a, d, b.



EDUCATION PSYCHOLOGY

S0l 2_6maillieL

Q.141) The Mid-Day Meal Scheme has been renamed as which of the following?
(A) PM Aahar Yojana

(B) PM Annapurna Scheme

(C) PM POSHAN

(D) PM Nutrition Mission

Answer: C) PM POSHAN / PM GLIT660T 619868 HIJLOM60T

Explanation: The Mid-Day Meal Scheme, a flagship programme providing nutritious meals to
school children, was renamed as the PM POSHAN (Pradhan Mantri Poshan Shakti Nirman)
scheme in 2021. The aim is to ensure better nutrition, learning outcomes, and overall health

among children studying in government and aided schools. QNATSHSLD: ,I'_F)GO"UTLIBBGD

2 _6wie s SILL LD, Leeil GLPhenSHEhHS 291 L FFSHHM6 2_65016)SH60)61
QIRIGLD (PSS S L LD, 2021@ 60 PMPOSHAN (LNNJ&T6T WHSH GCUITaQ6d
69568 BT eT6Tm) LMIQLIIFLUULL &|. @&60T CHTHSHD iJ& MHMILD
o gelujL 6T @QUIRGLD UeTallseafled LIQsHGD GLHMSGSHEHSHSG HMbHS

261l_ |_§&& G, HMMEL allemaTelsel, MMID L (HELTHSH HCITHHILSmS
2 MG QFieus).

Q.142) The main goal of the NIPUN Bharat Mission is to ensure foundational literacy and
numeracy for children by the end of which grade?

(A) Grade 1
(B) Grade 2
(C) Grade 3
(D) Grade 5
Answer: [c] Grade 3

The NIPUN Bharat Mission (National Initiative for Proficiency in Reading with Understanding and
Numeracy), launched in 2021, aims to make all children proficient in reading, writing, and basic

mathematics by the end of Grade 3.  2021-@\60 QIGTLRISLILL L NIPUNUMI& &SILL LD
URSIL 65T UTHSSHL MMILD 6TeuresMIanNed SMenLns&mest C&EL
WPWMHE), SIMeTEHS GLPHEMSHEHLD UGLIL 3-601 (LplgelleL aUTHSG6V,



S1(PSIGHL LOHMID SlgliLenL. SuNgHHeL CHIFH QUMM
ChT&sLMSS &M (heTerns).

Q.143) “Jaadui Pitara” is mainly targeted for:

“QUGMUN NGHTIT (PESHWILDTE WT([HSHHTS:

(A) Secondary school students / @[J6BOTL_ITLD [Hl6MEV LOTETOTEU TS 61T
(B) LDTGUUTEUI&6IT Parents only / QUMHCMMTI&6T LOL (HLD

(C) Teacher educators / QL EFIWT LUNDHE eT(RLIGUITT

(D) Foundation stage learners / Qg LILI6ML. [Hlemev SHmmev

Correct Answer:
[D] Foundation stage learners / Qg LILI6ML. [Hlemev SHmmeL

Reason / SITIJ600ILD:
“Jaadui Pitara” is NEP 2020 learning material kit for children of foundation stage (ages 3-8).

“arGMuNl NSSTT” 6T60TLIGHI NEP 2020 Silq LILIHL [Hl6060 (6UILIZI 3-8)
GLHMBEHERSSTET DML QUL L SLD.

Q.144) “Integral education” covering five aspects of human development is a concept
advocated by:

O6vTlS eUeMTTFHUNGT WHG JLDFRISENET 2 6T SHI “62 (HHIH06TH S
&e0all” 61601 &(H&HNG UM SIeN:

(A) Sri Aurobindo / L) SITENBCHT

(B) Jiddu Krishnamurti / LB &5 6196WTeLDITE &)
(C) Vivekananda / G)ﬂGG)JBSI'I'GUTEQ’)Ij

(D) Tagore / HMT&el]

Correct Answer:

[A] Sri Aurobindo / L), SITeNBGCSHIT

Reason / &ITIJ680ILD:

Sri Aurobindo’s Integral Education stresses 5 aspects: physical, vital, mental, psychic, and
spiritual.

1% SITaNhCHTaN6H “6@(HRHMEIHE HeLE” 5 JLDFMHIGHEM6T
QOWMISHEMSG: 2 L 60, 2 U, LD6UTLD, 4,60TLOIT, S, 6TLOIGLD.



Q.145) Who is considered the Father of Sociology?
gepsalliedler Shemg 6T6Tml SHHSLLIRLOIT Wmy?

(A) Max Weber / GLD&EV Qleuully
(B) Auguste Comte / Q},&6MVL SHITLDL
(C) Karl Marx / &ITIJ6L LDMI&HEMN

(D) Emile Durkheim / 6TLOI6L L [J&HGISLILD

Correct Answer:
[B] Auguste Comte / Q},&6IVL SHITLDL

Reason / SITIJ680ILD:

Auguste Comte is called the Father of Sociology for coining the term and establishing sociology
as a science.

“FELPSHOILIED” 61601 GIFMELEMEV 2 (HEUTEHE), MG (h SMOTNWIGVTS
HeneoHMIGHWIHTEL L&V SMDL “FeLPSHAILICO6HT FHhems” 6T6uT
SIMPSSLILIGH DT

Q.146) Rousseau’s educational philosophy best supports which concept?
chGamaller He0as HHGIAID 6hHE &HHMS HMLILTS YSFHEHDE?
(A) Societal control / &6 & &L (HLUm(®

(B) Naturalistic development/ @u.u_han&; 6)_I6TTI'jé=é=1

(C) Industrialization of education / &60EUTI6 QG TLHELLOUILDTS S 6D

(D) Rote memorization / LD6OTLILITL_LD

Correct Answer:
[B] Naturalistic development / @wﬁ)mas G)JGTTI'jé:dﬂ

Reason / &ITJ6UUILD:
Rousseau emphasized learning in harmony with nature and child’s natural growth.

CHGCET, GLpHenGUNeT QUIMEMSIITET UeTIFH OMID @QUIMEDSU|L 65T
QenewihS HMHMEN6L 6UEOIL|M)ISSl6uITi].

Q.147) When was Anna University, a premier institution for engineering and technology,
established?



GC&: Qumluuled MMID CFHMHLBIL LUSHMSTe (LDGH6oTenLd HmIeUeTLOm6oT
SIGTUIEHIT LIGL&EMEVSSHLPSLID 6TLIGUMG Himieurill L g)?

(A) 1929

(B) 1957

(C) 1982

(D) 1978

Correct Answer:

[D] 1978

Reason / SITIJ680ILD:

Anna University was established in 1978 in Chennai as a premier center for engineering and
technology.

SI6TIIGHONT LIGLSHEMCLESHLPSHLD (& 6016060 H&HIFI6L 1978 QYLD 4,6507(H
Qurlufuied MMID CGTLHGOBIL LUSHMEBTE (LD SESTEOLD 6HLOUILDTS
Hmieuiulr L g

Q.148) Who is hailed as the "Father of the Tamil film industry" and is known for producing and
directing the first silent film in South India?

G&: "glhlpG HempliuL g Glemmullet hend" eteorm CUTHMLULHLIEI]T
LMD QAFeiTaNHAHWITONGT (LPGHEL 2a6mLnG SlMILILL H60G WIS E)
@WISSWIeT ulmy?

(A) K. Balachander/ G&. LIT6L&HSI]

(B) Dada Saheb Phalke / &M FTGaML LIT6LGES

(C) R. Nataraja Mudaliar / &_I,I] hLJT® (y)g,eﬁlu_lmj

(D) S. S. Vasan/ 6T6N0. 6T6N0. 6UITE 60T

Correct Answer:

[C] R. Nataraja Mudaliar / Q4. BLJTEY (L0 &0y

Reason / SITIJ680ILD:

R. Nataraja Mudaliar is called the Father of Tamil Cinema for producing & directing Keechaka
Vadham (1916), South India’s first silent film.

Sl BLITE (LPKHEOWITT, 191660 &FE 6U&LD61651M & 6oT6sNHSITe6oT
(PGH6L 2amD FMTLULL H6mG QuIsHE SWMHESHST, “HLOIDS SHemFLLL &
SlmOUT6T SHenG” 6T60TM AHMLOSSLILIGE M.



Q.149) Which Chola king is famous for his naval expeditions that extended the empire to
Southeast Asia?

Co: e1hg G&MP 6TeN] QHTHNGG PHWT aueny CUITeng
aNfleuG S H6g SLDHUMLL LILNIKSE@p&HSTSHL LSHLPCILMMeNI)?

(A) Rajaraja Chola |/ QITegnmeg G&mLO6oT |
(B) Rajendra Chola |/ QITCRBAT CEMLP60T |

(C) Kulothunga Chola | / §GeOM& &ImIG CFTLHEOT |

(D) Aditya | / QY& GWI |
Correct Answer:

[B] Rajendra Chola |/ QTGRBEH Gampeo |

Reason / &IT[J600ILD:
Rajendra Chola | is renowned for his powerful naval expeditions that extended Chola influence
to Sri Lanka, Maldives, Malaysia, Indonesia, and Southeast Asia.

QITCRHS CEFMLPEI |, H6oT&H QUG SHLMLEML LI LILICIRISETTEL
Gempy gL &emwl Qeomisns, DTewd e, LGeo&wm, QbCHTCsor&wm
LOHMID CQHTHPES ST eueny eNfleubGSlieur.

Q.150) Human brains having enactive, iconic and symbolic modes of representation — concept
formation by

QawievL(hhlemev, 2 (Heus Hlemev WMMID GO G Gumerm
HemevsHemaTiemLLLIG| LD6ETS CLOEMEITILITEIS| S GLD 6T60TMD &(HHMS
9 _(IH6UMSEIUIEUI:

(A) Bruner / LICIK 63T1])

(B) Pavlov / LITeXIGEVIT6YI)

(C) Piaget / LMLITGEY

(D) Thorndike / &ITIJ63T60L_5

Correct Answer:

[A] Bruner/ IJ(IBG'OTIj

Reason / SITIJ680ILD:
Jerome Bruner explained concept formation through three modes of representation — Enactive
(action-based), Iconic (image-based), and Symbolic (language-based).

QRGCrMD LeH6), H(hHSH 2 (HeUTSHSD cPTM Heneuser eupluims



BL&SEMG| 6161y — CFUIeLLI(RBHlémEV (Enactive), 2 (H6U& [HléM6L (Iconic),
&MU @G MHemev (Symbolic).

Q.151) Pre-operational stage is one of the important stages of Piaget's cognitive development
between

QEwe&HE WHULL Hlenev sterug LNMUTCRUT6 SiNeSHmest alarjgs
HemevsafleL 61hHG eUIS6n (h&HESLLILL §)?

(A)Oto2years /0 (LPGH6EV 2 QUWIG| UM
(B) 11 years and above / 11 @I LOOMID HSHDHGELO6L
(C)7to11years /7 (IPSHEV 11 QUWIF| €D

*(D)2to 7 years /2 (IP&H6V 7 QUUIF] 6U6DI]

Correct Answer:
[D]2to 7 years /2 (LP&H6V 7 6UILIG| 6U6M

Reason / &ITJ6UUILD:

In Piaget’s theory, the Pre-operational stage occurs between ages 2-7, marked by symbolic
thinking and egocentrism.

NwrGxuiest GCHTLUML 160, “CQFuIe&HES (POHULL Hleneo” 2-7
QU6 (HHG6T HenL QUMIAMG; QHL GLPHenGH 6T HeT6uThIG6T CLACVLD
aHH&sHaD, H6sHCH 2l Umjamneuulled Hh&Hésa D QFUISMITTSH6N.

Q.152) Physical development is .
2 L6 6UAJ&FS 6T60TLIG) :

(A) Quantitative in nature / SIEMENIL_&&alq Ul &60T60ILD
(B) Qualitative in nature / &IJ g LILIEML_UTIELIT6T F65T60ILD
(C) Reflective in nature / NJEILIGOILIL &65T60ILD

(D) Continuous in nature / Qg,rrl_l']éeﬂu_lrrm g,a'ﬂsmu)

Correct Answer:

[A] Quantitative in nature / SIEMENIL_&&alq ! &60T60ILD

Reason / &IT[J680ILD:

Physical development can be measured in terms of height, weight, size, and motor skills, hence
it is quantitative.



2 L 60 6UEMTEFH 2 WIPLD, 6T6ML, 2 L 6L 66, QWISHSHE Hmeor
GuTeTmEUMMITEL SleMNIL &H8alq Ui, H&ECI Q&I “oaTe(h H60T6mLD”
2 ML LLIG).

Q.153) In Pavlov's classical conditioning, the unconditioned stimulus (UCS) is a stimulus that:
Lmedevelest UMJUFW ULP&SLILGESS60I60, HLhGHemest @eveons &esu(hge0
(UCS) 6T60TLIG)| 6THSHMBUI FHTTuT(HHEVMEGLD?

(A) Elicits a response only after repeated pairing / Lﬁ'ﬂfb'[@Lb LﬁGﬁM@Lb @6076601’5’&) mg_r)(‘;&,

ufleneo gHUGESSID

(B) Elicits a response without prior learning / (Lp60T8aL_Ig LI &MHMEOl6TTMN LIGl6mev
JHUGSSILD

(C) Becomes neutral after conditioning / ILp&&LILMLSHNSGL LNDG
HBHEOHEOWITETSHTS LOTMILD

(D) Is the same as the conditioned response / @UE@@WUU@(&;Q’)IJUI;L u@gm_a'ﬂ
Cr LIHHWTE Q@HSHGLD

Correct Answer:

[B] Elicits a response without prior learning / @m&mLLQ.UJ &:[_f)mGﬂGbT@ IJ;ﬂGtDGU
JHUGSSILD

Reason / SITIJ680ILD:

In Pavlov’s classical conditioning, UCS naturally triggers a response (e.g., food - salivation)
without learning.

umeuGeomeisor LML ULPSSLUILI(HSSH606L, UCS (HLIhSHemenr 6LV
St (h&60) QUIDMSIITEGCE USHenew gOUBSSHID (2T 2 6016 —
BITeNemILIL), (LP6iT&aLl lgul HNHMEL CHMEUUNELED6L.

Q.154) Thorndike's 'Law of Effect' states that behaviors followed by satisfying consequences
are likely to be:

CamiyssTenL_s&l60r ‘llemeneyd FLL LU, S(HLUSH SO 6160616 5H6m6rTE
Q&MWL HL GH6MGSHET HSHLD CFULILLEHEUSDSHT6OT EUMLILIL| 6182

(A) Weakened / LIeueXeorLiLI(h & SLILIEGLD
(B) Forgotten / LOM&SLILI(HLD

(C) Repeated / L3sGOT(HLD Q& UIwWILILI(LD



(D) Generalized / QUH@GO‘)LDI'JU@’&LJ,&,I'JU@LD
Correct Answer:

[C] Repeated / LBsGOT(RLD Q& uwILILI(RLD

Reason / &ITJ6UUILD:

Thorndike’s Law of Effect: Behaviors followed by satisfying results are strengthened and
repeated.

ComjeiTemL &Sl “elenaTeyd FL L LD LU, S(HLSSILOMET eT6m6rTeySHemerns
Q&ML HL H6mG &6 euILIGUMHM) WBeor(GLd CEunuiL@Lb.

Q.155) The Gestalt theory of learning emphasizes that the learner perceives things as a:
Q&eL ML HMMEL GCHTLUMH SOHMIBY CILITILET&HET 6TelITM)
2_6WIHMM 6T6oTLMS 6UOIL|MISHIHMGI?

(A) Collection ofindividualparts/g)wﬂf&;’&)m IJ@’&DEJGTT\GI'ST Q’&)I'I'@I'JLI

(B) Whole or a unified pattern / (L) (LD6DLOWITS SV G| €2 (Ih RIS 6VUTTH S
61q.6115 6L

(C) Random set of stimuli / FTMM G6wo1(H&HL&6METT C& MG LIL

(D) Response to a single stimulus / MMM GTEHI(HHEVISSHT6NT LISI6L

Correct Answer:
[B] Whole or a unified pattern / (L (LQ6DLOWITS 316L6VG)] €9 (IhMIEI60 60T S

61q.615 6L

Reason / &ITIJ600ILD:
Gestalt theory says learning occurs by seeing things as a whole pattern, not just separate parts.

Q&eioL el GaHMLUM(, HMMEL 6T6TLGI CILIT(HETSEMAT (L (LYemLOLITEDT
Qllq.e1l6L 2_uITaIGH6 cLpeVD HSLHMG), HelGHeN LGSHEHTe 16060.

Q.156) The need to succeed, to excel, and to achieve a high standard is known as:
QeupmMCuD, HmbHG eNaThis, LMMID 2 WIJ §IHme emLul CauuhLd
1601 CHemeu @euaimm SmPSESLULGHDGI:

(A) Self-Actualization / & 60T-2_6U011] &6V
(B) Power Motivation / glféﬂ&:l‘ﬂj &[_F)QJ’EJG\)
(C) Affiliation Motivation / @6060UTLIL| 2_[H &) 6L

(D) Achievement Motivation / &T&6M6UT 2_[H )56V



Correct Answer:

[D] Achievement Motivation / FT&6068T 2_[5 5|56V

Reason / SITIJ600ILD:
The drive to succeed, excel, and reach high standards is called achievement motivation.

QeummMCuD, HmHE aNeThS, 2 W HI&HmG enL Ul CeusmrGLd 61651
2 HEHIHEL “‘FNHM6M 2 HHIH6L” 6160TM)| SMPSHSLLGHMGI.

Q.157) According to Guilford's 'Structure of Intellect' model, intelligence can be classified along
which three dimensions?

ﬂGi):lGIJITI']I;Lq.GéT 'ymm@aﬂm &L_L_6MLOLIL] (‘'Structure of Intellect') LDIT@IﬂI'JIJLq.,
hictotenoileney 6TH& CL6TMI LIFILOMeuImiSeMes SilqLiLiemL uied
UMSLILI(H & SHEVITLD?

(A) Single, Two-factor, Multi-factor / Mémm, Qeior(h SHITIeueT, LI6L SHITyeuen
(B) Operations, Contents, Products / Q&FWIEOLIT(H&6IT, 2_61TaTL_&H&MRIS6T, 61160616 SH6IT
(C) Componential, Experiential, Contextual/&’a@j&im, gl@_ll.l@.lLb, @QG\)

(D) Linguistic, Logical-Mathematical, Spatial / GILOMLAIINLIGD, &[]5&-&H6WNS,
AL EEMHS
Correct Answer:

[B] Operations, Contents, Products / QI&FWIEOLIT(H'&6IT, 2_61T6ITL_S&RISENT, 6111606116 S61T

Reason / SITIJ680ILD:

Guilford’s Structure of Intellect Model explains intelligence through three dimensions:
Operations, Contents, and Products.

&60..CUMTL 1607 “HlevoiesorNeN6sT &L L emLoLIL LOMHIf, missmewilened cLO6TM)
Ll mesTRISeNesT SligLiLemLulled umsLULGSHIADG: Q&weoUT(hseT,
2 _6NMENMLSH&HMIG6N, 16066 & 6IT.

Q.158) Who proposed the 'Group-Factor Theory' of intelligence, suggesting that intelligence is
composed of primary mental abilities like verbal comprehension and spatial visualization?

mistutenoile) 6T6oTLIG QOMLAIL Lflged MMID QL EpFMIHS ST SLILHESSH6L
GUITETM (LPGETTEMLD LO6TT FMETHATTEL Y60 TaTm Faml, 'G(Lp Syeveil
G&SHLUH@' (Group-Factor Theory) 6T68T!D 5166616601@6)_]65 GCamL_umL_enL
(LPEOTCILDMLAIH S 6T WIM?

(A) Louis Thurstone / e9uilery  &eroGL meor



(B) Charles Spearman/&l‘l’le\)Gf\) GT'\)Ij]u_II']GLDGfﬂ
(C) Raymond Cattell / GIjLO60OTL. G&L_1q.60

(D) J.P. Guilford / G&.19. &leL..GUITTL

Correct Answer:
[A] Louis Thurstone / g)_lTU.‘ﬂGT\) g,l']GT'\)GI_ITGfYr

Reason / &ITJ6UUILD:
Louis Thurstone proposed the Group-Factor Theory, identifying Primary Mental Abilities like
verbal comprehension, reasoning, and spatial visualization.

smileny &FeroGL e, “Gp Smyssth CamLUTE” (W6TCLTAbhE], CILomAIL
Lf1&60, yLomend, QL @ FMHE STLALLGESHEL GUITETM (LD SH6STEMLD LO6IT
HM6OTSH6MET SI6OL_ITEMLD GH6VOrLTI].

Q.159) Continuous and Comprehensive Evaluation (CCE) was legally supported under:
QgmLyF&swmer wmMID eNfleumest WHLNIEH (CCE)FLL F STs
PSS G| 61560 &HLp?

(A) NEP 2020

CHHW HeLaNS Q&TeTems 2020

(B) RTE Act 2009 Section 29(2)
@eveus MHMID SLLMUIS SHevell FLL LD 2009, LNfley 29(2)

(C) Kothari Commission 1966
CEMHSMF 4 6M6UUTLILD 1966

(D) NCERT 2000

Calw Hevall YImiFs MM LUNHE HeeiT&led 2000

Correct Answer:

[B] RTE Act 2009 Section 29(2) / @606u& OOMID SLL MG &H6LaI FLLLD 2009,

Nifley 29(2)

Reason / &ITJ6UUILD:

CCE got legal backing under RTE Act 2009, Section 29(2), ensuring continuous assessment for
child-friendly education.

CCE&® SLL FaHwmer s re] eveus WOHMID SLLMLS &eoell FLL LD
2009, LNfl6Y 29(2) BLp HML 558 QFH GLHEDS BLL HLNSSTS
QaMLFFSwmer LHUS L 2 MG QFWLSDGI.



Q.160) Which of the following is the correct order of the hierarchy in evaluation?
LNeTeu(heueTeuMMEDL 618 SIS 19601 HEMEL(PEMM (Hierarchy) FIFIWLITEDT
6Uifleng?

(A) Test > Measurement > Assessment > Evaluation

Comgener — emall(hgHeL — WHUSE — WHLILMIE

(B) Measurement > Test > Assessment > Evaluation

sleme(hHeL — CeTHemssr — WHUSEH — LHULMIIEY

(C) Test > Assessment > Measurement > Evaluation

Cengemnent — LHUIH — SeTGHL — LML

(D) Assessment > Evaluation > Measurement > Test

LHIIE — wHuumie] — SR L — GCETSHen6

Correct Answer:
[A] Test > Measurement > Assessment > Evaluation

gflwimenr L&HeL: CETGHeMenT — Senal(HHs0 — WLHUNEEH — UMY

Reason / SITIJ680ILD:
The proper hierarchy is:

o Test (GC&M&6mEDN): Tool to collect data.

e Measurement (gqms)fﬂ@g,si)): Assigning numbers/quantitative value.
o Assessment (LD&ILIS(E): Interpreting results for learning progress.

e Evaluation (LDQI;IIJI'I'U'_IG)_]): Judging overall effectiveness or value.

gilwimest euflemnsg:
Cemgenenr — emall(hgHeL — WEHUSIE — WHLILMUIE.

Q.161) A Mathematics Readiness Test to predict performance in Algebra is an example of:
SLQKLITaNeL CFWELH MM HeutNsHS LweTURSSLLUGBLD SH6mNsHs
swimjhlemne CeMgemest e T(HHHSHHML(b:

(A) Achievement Test

FN5Heneog G&meg emneo

(B) Aptitude Test

Hmerey C&mgen 6ot

(C) Diagnostic Test

CrmwmMigeL C&mgemest



(D) Prognostic Test
(P60TGaL 1985 SHewnLiIL C&mgement
Correct Answer:

[D] Prognostic Test / (LP60T&al g & SHeuuNLIL C&ITg 60601

Reason / &ITIJ600ILD:
A prognostic test predicts future performance (e.g., readiness for Algebra).

W6TFaL 198 SeutLIY C&m ement, LOMsuaTeUIfledt sTEHTHTeL C&FUI6L Slmem 6ot
SEM&HSL LWeTUBRS DS (2 STIEID: HLCIQLTT SMHMEVISHST6oT
SWmyhlenev).

Q.162) Who is known as the father of the Great Man Theory of leadership?
sUQUflw 6fl&] CHMLLIML L 63T (Great Man Theory) HH60& UIMTITSHS

&HSLULEHDM?

(A) Fiedler / .lSL_6VI]

(B) Thomas Carlyle / DN SITJMEVED
(C) Kurt Lewin / G spmexeor

(D) Max Weber / GLD&6rv  GleLy

Correct Answer:
[B] Thomas Carlyle / g;ITLDBT'\) &:ITIjG(DGDGi)

Reason / &IT[J600ILD:
Thomas Carlyle is regarded as the father of the Great Man Theory, which states that leaders are
born, not made.

SO SMJene06L “NSLQUFlL 6ET CHTLLUIML Lq 60T &heng” 6Teur
SIMPSSULGRADTT; Qb CHETLUTEH Hemeveaufser LNmLNGeoGul
2_(HLeUTHMITI&H6N, 2_(HeUTEHSLIL(RUSELMEL 6T60TM)| FoMISME).

Q.163) A student reflects on their learning strategy and revises it for better performance. What
type of knowledge is this?

(A) Factual
(B) Procedural
(C) Metacognitive

(D) Conceptual



Correct Answer:

[c] Metacognitive / GILOL_L_MT&T&60TIL_1g 6)1 6

Metacognitive knowledge refers to awareness and regulation of one’s own thinking and learning
strategies.

QL L T&r&elll g6l SiMley 6T6TLG ep(heuflen QEMhHe HhGHenes LOMHMILD
SOMeL 2 GHleafett L6 LOMILD €(LPMIG(LPEMMEMIULIS
GMNSHMI.

Q.164) The term Curriculum is derived from a Latin word “currere” which means:
(A) Toteach

(B) Torun/racecourse

(C)To learn

(D) To read

Correct Answer:

Answer: B) To run/ racecourse / @@56\) / uL'r,g;u_uLl LmenG
Explanation: “Currere” means to run or racecourse, symbolizing a planned path for learning.

“Currere” 6T6OTMMEL 6(HHEL SI6L6VG LHGWIL LITemG 616t CILIT(H 6T, Q&)
SMHOVISHSTEST SILLLOILUULL UTenGenlsd GSMSHME).

Q.165) Which principle of curriculum development encourages addressing various learning
styles and preferences?

UTLSSHLL euenj&&ule 6ihHS Cl&memensd LeLGeum SMHMEL LIMeun&el
LOMID aNGBLUURIS6T MSUITET 26185 GaTN&HHME)?

(A) Balance / &L0[Hl6m60
(B) Individual Differences / 6olILILL_L. Geumium(h&er
(C) Utility / Liwseotum (i

(D) Relevance / GQIUIT(IF & LD

Correct Answer:

[B] Individual Differences / S6vilLILL_ L. GeumiLm(haei

Reason / SITIJ680ILD:

This principle ensures the curriculum meets different learning styles, abilities, and interests of
students.

AH%HS CQ&MeTens, LOMeuTeUISen6s NGINGLOMETT SMHM6L LIMTEINS6T, M6,



LMD eN@GLUURISET L THS QFWLIWD alensuiled LUTL S L Heng
g UEMLDES 2615 GNNSHME).

Q.166) Project-based, real-life learning in curriculum best reflects which approach?
S L siglitenL_uleomen, Hy aUMDEHME SMMEL 6THG IEM)E (LPMMEDLL
Souurs NySHUed&HEHMmSI?

(A) Logical/ §J&&IJ Slimenr
(B) Spiral / &LD6V
(C) Unitary / é@2(Ih60LD

(D) Topical / §606VLIL
Correct Answer:

[C] Unitary / 62 (IH60LD

Reason / &ITIJ680ILD:
Project-based, real-life learning integrates subjects into a single unified experience, which is
the Unitary approach.

S L siglitenL_ulleomen, Hy UMP&HmS SMHMEL LI LML HiGenen Gl
@DMMD SIMILIQILDTS 62 (HRIFNENEGLD; QFHIC6U “6(HEMLD DG (LPEOD”.

Q.167) Which institution leads the national Virtual Labs project in higher education?
(A) ITBombay

(B) lISc Bangalore

(C) IIT Delhi

(D) NIT Trichy

Correct Answer:
Answer: C) IIT Delhi / IIT Q6L

Explanation: IIT Delhi coordinates 10+ institutions in developing Virtual Labs, offering simulated
practical experiences for college students nationwide.

IIT CIL6LE0 10+ HIMICUETTRIGENET 62(IhRIKlENETSHG CIOWIRSG] Y UIOISHHISE 6T

2 (HUTEGAMG!, BTEH (L (LPEUGID SOV LOTETITEUTSEhSE
2 (HeUSLILESSUILULL HEOL (PMD SiFHILMKIGENET QULDRIGHME.



Q.168. Which toolis India’s first Al-powered teacher robot?
(A) Vedabot

(B) IRIS

(C) EAGLE

(D) AARNA

Correct Answer:
Answer: B) IRIS

Explanation: IRIS is Kerala’s teacher robot, capable of interactive 3D content delivery,
simulating real teacher-student exchanges via Al.

IRIS 601 Cagenmeilest AMuwly ComGum gy,GLW, & a1 _mHLD 3D
2 616 &5 QUPMIGEMELF QFWILILD SMesT CSTEUL &I, Al CLHEVLD
2_6UTEmLOUITEOT oY, Aflwlj-LomeuvTedj LIFILOMMHMMISEN6T 2 (heusSLILIGSHSMSI

Q.169) TPACK was proposed by:
TPACK (P 60TQILDTLANH & )T &H6T:

(A) Mishra & Koehler / LOlerOIT & G&MTQM6LIY
(B) Skinner & Crowder / @0 &\60T60TI] & &HlT6YL_IT
(C) Morrison & Hunt/ LDITIﬂ&GéT &m)aﬁm'_

(D) Gagné & Krathwohl / &ITG6UT & HIITHGeUTEL
Correct Answer:

[A] Mishra & Koehler / LB16rONIT & G&HMTM6VLIT

Reason / SITIJ600ILD:

TPACK (Technological Pedagogical Content Knowledge) framework was proposed by Mishra &
Koehler.

TPACK (QEMLAILHIL L-SMLNGS60-2_6TaTL_&8 i6Y) SiemLLisnL LG
LOMID CHTOMELT (L ESTCLDTLANH S 60T

Q.170) Which platform is India's main MOOC provider and also serves as an OER repository?
(A) SWAYAM Prabha

(B) Pathshala

(C) S WAYAM

(D) e-PG pathshala



Correct Answer: C) SWAYAM

Detailed Explanation: SWAYAM is the Government of India's flagship MOOC platform, offering
thousands of courses for schools, colleges, and professionals in various Indian languages.
Beyond courses, SWAYAM houses educational content developed with public funding, open to
all—a key OER (Open Educational Resource) repository for India.

SWAYAM 6T60TLIG| @S SITEI60T (LPSHESTENLD MOOC GENLDMGLD, LieTTaf&er,
&6LQVIM&6I, LDOMID QG (PEMM ULNIBIHEFHES LD QHEIL
QTLHISeNeL SuNT&eHauSSTe LML COBMISmeT QILNHIGSHME.
UTLQBMISER&HE SILIUMED, QUG HHu|GeTu|L 6T 2 (HeUTHSLILLL &606)
2 (ML 555608 M6UGHS(HEHMEI, QG HMETUHSHGSGL HhSev6r-—
ABHWTNNEGS €(H (PSS OER (HMHG &6V 66T &HeTEhFILILDMGLD.



GENERAL KNOWLEDGE

QU M6y

Q.171) The first Indian to become a member of the British Parliament was?

Nl g6 UMITEHLEIMSSIL 2 MILINCTTIT6N (NGO @QBSILI WImy?
(A) Mahatma Gandhi / LOSTSLOM SMH

(B) Dadabhai Naoroji / STGTUML GCHenGrmed)

(C) Subhas Chandra Bose / &LITerv &h&ly GLITerv

(D) B.R. Ambedkar / 1.8} []. SILDCLIG &I

Correct Answer:

[B] Dadabhai Naoroji / TGTUML QBHenGrme)

Reason / SITIJ680ILD:

Dadabhai Naoroji was the first Indian elected to the British Parliamentin 1892 as a Liberal Party
candidate.

STHITUML QBHenCrmel), 1892840 S600I(R 0ILITeL SL& Geul_Umerymss
Coines (G &HaLUIUL (h, Nl igee UTTTELLaImSSHL 2 mILN6TImes (Lp&H6eL
QBSILIT 6oy,

Q.172) Which was a military title during Sangam Age?

Fhis STLHHL QURISILLL @nmamell UL LD 61%?
(A) Poligar / LUT6D LIS SITIII]

(B) Perumakkal / QILI(TH LD & G 61T

(C) Enadi / 6T60TITLg.

(D) Manigramattar / LOGSUTISIJITLO & & T[T

Correct Answer:

[C] Enadi / 6T60TITLG.

Reason / SITIJ600ILD:
During the Sangam Age, Enadi was a military title given for valor in warfare.



FMISSTVGH6V, sTs07rTlg 6T60TLIH CUTTSHMEMLDSSHMS ULPRISLILIL L. QrmeumieL]
UL L LD o4@SLD.

Q.173) The Directive Principles of State Policy (DPSPs) in the Indian Constitution were inspired
from which country's Constitution?

AnHW SITHweLEmLOLINE 2 6o LOMHEVS CS&TETeNS CHTESMIGE 61HS
BT 1601 FHIevemOLINeL @Q(Bh& UTHLL QUDME?

(A) United States of America / SICILDIl&&IT

(B) United Kingdom / @\RI&Ie0MH &)

(C) Ireland / SIWIJEOMHG)

(D) Canada / &63TL_IT

Correct Answer:

[Cllreland / gqu_u']a)rr[r,g

Reason / SITIJ680ILD:

The Directive Principles of State Policy (DPSPs) in the Indian Constitution were inspired by the
Irish Constitution (1937).

Qb syfwevsnloLitlen WMHeVs C&TeTems CHITSHEMRIGEN, 1937
SlFeonHg SIT&ulevsnoLied Q(bhHG 6T(hSHISCSTETATLILIL L 616l

Q.174) The highest peak in the Aravalli Range is ___.

sigmeueTail meGHESHMLIfl6L 2 WIFLOMT6T HSHJLD 6182
(A) Mount Abu / LDE6B0TL_ 4L

(B) Anamudi / Si,60T(LPLlg

(C) Doddabetta / GL.TLQUL_L_IT

(D) Guru Shikhar / @ (I, &S]

Correct Answer:

[D] Guru Shikhar / & (I, &&I]

Reason / SITIJ600ILD:

Guru Shikhar (1,722 m) is the highest peak of the Aravalli Range, located near Mount Abu in
Rajasthan.



G &) (1,722 10) 6T60TUG JTLQErVGHTEEN6L LDEGTIL. SpL| Si(HE6L
SIMLDHGI6TT6N, SiTeU6Ternl LDemeLSHEGTLfl60T 2 WIFLOMET HSFLD Y GLD.

Q.175) Which of the following is classified as a primary pollutant?
LNeoT6U(IH UETTEUMMICL 61FH (LPSHESTENLD LOMHLI(BSHSHILITS
UMmSLILGSHSLLGSMEI?

(A) Ozone / 6 G&ITEBT

(B) Smog / |60 &CLPL_L_LD

(C) Sulphur dioxide (SO,) / HhHS ML Y &HMEF(H (SO,)
(D) PAN

Correct Answer:
[C] Sulphur dioxide (SO,)/ &H&H& ML Y &HM&(H (SO,)

Reason / &IT[J600ILD:

Primary pollutants are directly emitted from a source (e.g., industries, vehicles). SO, is a direct
emission, while ozone, smog, and PAN are secondary pollutants formed by chemical reactions.

(WG6sTenLD MGLGSHSH & ChIlgUITS €6V S Sle0l(HHE)
QeueMuilL LG &lermen (2-T: CQHTLHMEF TNV, OUTHEIMIGET). SO, CHlq
QeueMui(h oG LD, 60160 6 CEMEIT, L& L L LD, PAN Sy, &lLisned @T6GoTLTLD
hlémev LOM&LI(HS S\

Q.176) On which date is India’s National Sports Day celebrated?

@nHuwirensr CHEAW eenemuml_(® b6 6hs HireaTed
QameorL_m_LLBSmEI?

(A) &IO60T 23 (June 23)

(B) S &HEMVL 29 (August 29)
(C) 6JLIJ6L 6 (April 6)

(D) QFLIL_LDUIT 5 (September 5)

)
)

Correct Answer:

[B] August 29/ QL &HEMVL 29

Reason / SITIJ680ILD:

India celebrates National Sports Day on 29th August, the birth anniversary of hockey legend
Major Dhyan Chand.



@nsHwimaled CHHAW aemanim_ (B HIT6T QL&EMVL 29 Sl6TM QMTSHE
BTGeT GLORT STt &hd LNMHS BHrenear Hleneuedoaljbal
Qa e mLUUB S MS).

Q.177) Which among the following organisation released Multidimensional Poverty Index in
India?

@nHwimalled Lew uflnme eumiend Gl enL Qeuafui L NesTeupLDd
SlMLOLILGENEL 618)?)

(A) NITI Aayog (BI&) o, Culms)
(B) Ministry of Economic Affairs (QILT(HEMTSHTY eX6USBT] SH6MLDFFEHLD)
(C) National Statistics Office (G LjeraflaNleu] SienIaue0&LD)

(D) Ministry of Internal Affairs (2_6TT&HIEMMD SEDLOFFHLD)

Correct Answer:

[A]NITI Aayog / H&) o4, ClLITE

Reason / &ITJ6UUILD:

In India, the Multidimensional Poverty Index (MPI) is released by NITI Aayog, using UNDP and
OPHI methodology.

QhHwreied, Lev UflmemT eumiend Gl (MP) HE < Cuwimé
QeueMuNGEMS; & UNDP LOMMILD OPHI (LPMMENII 3iiq LILIEHL UITHES
QSBTEIIL_G)|.

Q.178) Who is known as the "Moon Man of India"?

QhHwireledn "FhdHrest NS 6T60TM SMLPSSLILI(HLIOU]T UIT)?
(A) Dr. K. Sivan (LT&LI] G&. &euedr)

(B) Dr. Mylswamy Annadurai (LIT&L_[J 60LD6L&EUMLO SI6TII6UIIT &I601))
(C) Dr. Vikram Sarabhai (LLIT&L[] e&IJLD &FIJMLITLL)

(D) Rakesh Sharma (JGLD6Y &IJLOI)

Correct Answer:
[B] Dr. Mylswamy Annadurai / LT&L[J 60LD6VL&EUMLO SI6TO16UDIIT &)60)(]

Reason / &IT[J680ILD:

Dr. Mylswamy Annadurai is called the “Moon Man of India” for his key role in Chandrayaan-1
and Chandrayaan-2 lunar missions.

EhHETUITeT-1 LDOMILD FHSHTIWITEE-2 HIL_L MiGafled (LPSHEI LRIG



UHGHHHTEL, LMELI] MLDELEEUMLD SI6TUemIT&HIen] “@bHwimeilen &balyest
D6V 6T60TM) SMLPSHSLILIRH DI

Q.179) The difference between the compound interest and simple interest on 310,000 at 10%
perannum for2yearsis___.

310,0005@& S6001(H 10% QUL IqUN6L 2 Y (h&Eh&HSHT6N Fal (B 6ULLg
LOMID eTafll el lg NGSHITFLD 6T6lAIATE?

(A) X100

(B) X250

(C) 3200

(D)%150

Correct Answer:
[A]X100/%100

Reason / &IT[J600ILD:

= Simple Interest (S):
S = P\I{;;:ﬂ' _ 1-Z]||l'allll:;”1||~1 — FI000

=  Compound Interest (CI):
CI = I’{l + %]I — P = mnﬂﬂ{l.ljz — 10000 = 10000{1.21 — 1) =
22100

#+ Difference = Cl1- Sl = 2100 - 2000 = 100

Q.180) NABARD stands for:

(A) National Bank for Agriculture and Rural Development

(B) National Bureau for Agricultural Research and Development
(C) National Authority for Banking and Rural Development

(D) National Board for Agricultural and Resource Development

Correct Answer:
[A] National Bank for Agriculture and Rural Development

Reason / &ITIJ600ILD:

NABARD is India’s apex bank for agriculture and rural development financing, established in
1982.

NABARD 6T60TLI&I 198260 HMIeUUILL L, efleugmul mmIitb Hmollm
Cuur_ (G HH alphGD @hHWTalsr 2 & Uhid S ELD.
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